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TOPIC : FULL SYLLABUS
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HRl

(1) 11:3
(2 3:4M

3) 1:2
@) 3:4
1000 kg STIF @1 U foawe @ A W &)
IRTAT gRT WERT fear 2| Ife fowe @r et
T HUR 3R <RI 1.2 ms2 2 3R NGl &

faq gt arem yfiee 1.4 x 108 Nm2 2, @Y <=l
S _AGH AT F97 8T A1MRY? ( g= 9.8 mis?)

(1) 1cm
(2) 2cm
(3) 3cm
(4) 4cm

IrgATe Aferer fafyr gRT 9y 9 @ @1 Afq (v)
A9 & foq g wAT # 520 &< AgRT B 0P
WA fFye &1 SuaT fhar Ser 2| 3ges a1y
w9 @ I HAe dergdl, 1, =30 cm 3R 1, =70
cm WX BIAT §ITT <@T AT & 99, v ERIR T

(1) 385mi/s
(2) 395mi/s
(3) 416 m/s
(4) 428m/s
|EM SR YIied &1 SFAM HA: 1.0087 3R
1.0073 amu T | Ife =EA AR Y fAaax

4.0015 amu AT BT Biferdd AIfA® I 8, @l
Sifergq e & g9 SHot sl

(1) 28.4MeV
(2) 20.8 MeV
(3) 27.3MeV
4) 14.2 MeV

2,

3.

The respective speeds of five molecules are 1, 2,
3, 4 and 5 km/s. The ratio of their rms velocity and
the average velocity will be

(1) 11:3
@ 3:41

3) 1:2
4) 3:4

A lift of mass 1000 kg is supported by thick steel
ropes. If maximum upward acceleration of the lift
be 1.2 ms~2 and the breaking stress for the ropes
be 1.4 x 108 Nm=2, what should be the minimum
diameter of rope?( g= 9.8 m/s2)

(1) 1cm
2) 2cm
(3) 3cm
(4) 4cm

A tuning fork of frequency 520 Hz is used in an
experiment for measuring speed of sound (v) in air
by resonance tube method. Resonance is observed
to occur at two successive lengths of air column,
I, =30 cm and |, =70 cm. Then, v is equal to

(1) 385m/s
(2) 395m/s
(3) 416 m/s
(4) 428 m/s

The masses of neutron and proton are 1.0087 and
1.0073 amu, respectively. If neutrons and protons
combine to form helium nucleus of mass 4.0015
amu, the binding energy of the helium nucleus will
be

(1) 28.4MeV
2) 20.8 MeV
(3) 27.3MeV
4) 14.2MeV
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(1) 1 2 2

@ 3 4) 4

T A wom Ry 1w
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(1) T BUF | TG || T

(2) SF BT | TG |l 3T &

(3) BUF | T & TR HI || 3N

(4) DU | A & W BAF || I &

A9 & & F Rafd 9w rae 91 ) a1 $9
Il 9 B 3R t I 95 & IR 3R 59 9 &7
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(1) tF=023R 1.rz0

(2 tF#03R 1r=0

(3) tF#0 3R 1.rz0

4) tF=03R1r=0

fom # faga uRuyr & U& W &Y <wiar T g,
ORI i BT 91 ®

3A

A gas it is taken from 1to0 2,2to 3 and 3 to 1 as
shown in the figure. The work done in cyclic
process 12— 3 —1 is found to be -np,V,, the
value of n is

V-——>
(1) 1 @ 2
@) 3 4) 4

The two statements are given below.

Statement - | : When unpolarised light is incident
on the polariser, the intensity of the transmitted
polarised light remains unchanged.

Statement - Il : Polarisation is convincing proof of
transverse nature of light wave.

(1) Both Statement | and Statement Il are correct.

(2) Both Statement | and Statement Il are incorrect.
(3) Statementlis correct but Statement Il is incorrect.
(4) Statementlis incorrect but Statement Il is correct.

Let F be the force acting on a particle having
position vector r and 7 is the torque of this force
about origin, then

(1) =.F=0and tr=0
(2 t.F#£0and tr=0
3) t.F£0and tr=0
4) t.F=0and tr=0

Figure shows a part of electrical circuit, then value
of currentiis

3A

(1) 6A 2) 3A
(3) 2A (4) ST SITTHTRI

(1) 6A (2) 3A
(3) 2A (4) Insufficient information
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(1) V3F
() V2F

T m BT IAEY q, BT r & AR Hem H
ReR aMIer q, & aARI IR FHAT 2| q, & BEF
JTad T BRI

r —=1/2
47’mr?

L %4

(1)

r k(q (q -11/2
@ |ach

r 1/2
4’mr®

| ka,q, |

r —1/2
47*mr*

L %9

4)
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(1) 2nRT

(2) nRT

(3) 4nRT
(4) 6nRT

10.

1.

12.

An a-particle is accelerated by V volt, experiences
a force F, when it enters in a uniform magentic
field. When a-particle is accelerated by 3V, in
same magnetic field, then force experienced by
a-particle is

(1) 3F
() 2F

Charge q, of mass m revolves around a stationary
charge q, in a circular orbit of radius r. The orbital
periodic time of g, would be

[4r?mr |
L G99

(1)

r k(q (q 11/2
@ |ie

r 1/2
47°mr?

| kayq, |

r —=1/2
47*mr?

L 49

4)

The ratio of the energy required to move a satellite
upto a height h above the earth’s surface of radius
R to that the kinetic energy of satellite into that
orbit is given by

(1) R:2h

@ R:h
(3) h:2R
4) 2h:R

For an ideal gas of n moles, the temperature is
increased from temperature T to 4T at pressure

p = aT-', where a is a constant. What will be the
work done by the gas?
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(1) 30°

(2) 48°

(3) 60°

4) 75.2°
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(1) 5m

U6 SUUE Yol & ARI IR, @] das & Fde
TS SOl E® 1Y G9h] R <@ 8, a SW
gl ¥ YARE & foy & SH arell St @& r
BIfY?

27°C TR 221 CO, &I 37°C R 16 I O, T Al
e srar & 1 fisor &1 e @

[ & f& co, o wdzar & f&ft 7 &k o, &0
waaar @ f$h 5 2
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A pure inductor of 25 mH is connected to an AC
source of 220 V and the frequency of the source is

50 Hz, the rms current in the circuit is
(1) 42A
(2) 28A
(3) 14A
4 7A

A ray of light falls on a transparent glass slab of
refractive index 1.73. If the reflected ray and the
refracted ray are mutually perpendicular, the
angle of incidence is

(1) 30
(2) 48
(3) 60°
(4) 75.2°

A block of mass 10 kg is moving horizontally with
a speed of 1.5 ms™' on a smooth plane. If a constant
vertical force of 10 N acts on it, then the
displacement of the block from the point of
application of the force at the end of 4s is

(1) 5m

(2 20m

3) 12m

(4) 10m

A satellite is revolving around the earth, close to
its surface with a kinetic energy E, then the energy

required to be given to it, so that it escape from
the earth is

22 gof CO,at 27°C is mixed 16 g of O, at 37°C. The
temperature of mixture is

[Assume degree of freedom of CO, =7 and degree

of freedom of O, = 5]
(1) 31.16°C
(2) 27°C
(3) 37°C
(

4) 30°C
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(1) 16m

) 26m

3) 10m

4) 36m
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3) 3x10°T (4) 25x10°T
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4 3
If 3 and 2 are the refractive indices of water

and glass, respectively. A ray of light travelling in
water is incident on the water-glass interface at
30°. The angle of refraction is given by

(4 .43
(1) sin (5} (2) sin [Ej

. 4(18 (4
(3) sin [?J (4) sin (Ej

An a-particle after passing through a potential
difference of V volts collides with a nucleus. If the
atomic number of the nucleus is Z, then the
distance of closest approach of a-particle to the
nucleus will be

Z o
1) 144—A
(1) 1447

Y4
2) 144—m
@ 144y

Z
14.4—
@) 1447 cm
(4) 1.44x10"°m

The position x of a particle varies with time t as
x =6 +12t — 2t?>, where x is in metres and t is in

seconds. The distance travelled by the particle in
first five seconds is

In a particular medium there is an EM wave, if
E, =9 N/C and speed of light in that space is

3x10®ms™". The amplitude of magnetic field will
be

(1) 1x10°T () 2x10°T

(3) 3x10°T @4) 25x10°T
The displacement of body along X-axis depends

on time as /x =t +1, then the velocity of body
1
2
3
4

increases with time
decreases with time

(1)
2)
(3) independent of time
(4)

None of the above
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frfafea o # x ik Y fafea difve iew
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(1) OR,NAND
(2) NAND, OR
(3) NOT,OR

(4) AND,NOR

faga gee TRT BT I IR
(1) B+E

@ E

3) ExB

4) B

e p=§e7°, # oet paE 8 2z 8 K

diecoM ReRi® & T 0 A9 & | B &1 foi
@ B
(1) M°LZT7] (2) [ML?T]
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$T Wb ENT

(3) [MLT
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2) mRafdd &=

(3) SRLAT 81 S
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Identify the logic gates marked X and Y in the
following figure.

(1) OR, NAND
(2) NAND, OR
(3) NOT,OR

(4) AND, NOR

The velocity of electromagnetic wave is parallel
to

(1) B+E
@ E
3) ExB
4) B

—0z

. a «e . .
In the relation, p = Ee K%, where p is pressure, z i

distance, K is Boltzmann constant and 0 is
temperature. The dimensional formula of 3 will

be
(1) [M°L2TY] ) [ML2T]
(3) [ML°T (4) [MOL2T

If number of turns per unit length of a coil of
solenoid is doubled, the self-inductance of the
solenoid will

(1) behalved
(2) remainunchange
(3) be doubled

(4) become four times

If n equal resistors are used to produce a total
resistance in circuit, the ratio of maximum to the
minimum resistance is

(1 1:n2
(2) n?2:1
3) 1:1

(4) None of these
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@) 3s

) 4s

@) 2s
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FTYTY AAAA
oy Yyyy
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1) 05

2) 1.0

3) 2.0

4) 3.0

BIGQIOE WRATY] & Holiell ST U SHB!
v ¥ fexfa SAfea o & @

(1) 9/4

2) 4

(3) 1/4

4) 4/9

(
(
(
(

28.
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The bob A of simple pendulum is released, then
the string makes an angle of 45° with the vertical.
It hits another bob B of the same material and
same mass kept at rest on the table. If the collision
is elastic, then

(1) Both A and B rise of the same height.

(2) Both Aand B come at rest at B.

(3) Both Aand B move with the same velocity of A.
(

4) A comes to rest and B moves with the velocity of
A.

For a coil having L =2 mH, current flows through
itis i=t2e, then the time at which emf becomes
zero

(1 1s

(2 3s

3) 4s

@) 2s

Power dissipated across the 8Q resistor in the
circuit shown here is 2W. The power dissipated in
watt units across the 3Qresistoris

12 3Q

AAAD AR
oy yYey

AAAA
Yy

1) 0.5
2) 1.0
3) 2.0
4) 3.0

The ratio of the energies of the hydrogen atom is
its first to second excited state is

(1) 9/4
2 4

(3) 1/4
(4) 4/9

(
(
(
(
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(1) 100s

(2 90s

Afrer Y1 @ 450 BT A
URMG AT | BHI?
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32,

33.

34,

35.

36.

Positive and negative changes of equal magnitude

A(0,0,+/a) and B(0,0,-+a)
respectively. The work done by the electric field
when another positive point charge is moved from
(-2a, 0, 0) to (0, 2a, 0) is

(1) zero
2)
(3) negative
(4)

A motor of power P is used to deliver water at a

are kept at

positive

charges are not given so data insufficient

certain rate through a given horizontal pipe. To
increase the rate of flow of water through the same
pipe n times, the power of the motor is increased
to P,. The ratio of P, to P is :

(1
2
(]
(4

A thief is running away on a straight road in a

n:
2.

1
51
1

n4

>

>

)
)
)
)

jeep moving with a speed of 9 ms~'. A policeman
chases him on a motor cycle moving at a speed
of 10 ms™'. If the instantaneous separation of the
jeep from the motorcycles is 100 m, how long will
it take for the police man to catch the thief?

(1) 100s

(@) 9DOs

(3) 19s

@) 1s

From the top of a tower 19.6 m high, a ball is
thrown horizontally. If the line joining the point of
projection to the point where it hits the ground
makes an angle of 45° with the horizontal, then
the initial velocity of the ball is

(1) 28 ms™' (2) 9.8 ms™

(3) 49ms™ 4) 14.7ms™

Two waves each of amplitude a and frequency f

1L
have a phase difference 2"

frequency of resultant wave due to their
superposition will be

The amplitude and

a f a
) 52 @ 5
©® 2 @) 2a,f
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10 kg THAE & TP sdlid &I 30°FHId ardl
R M dd R SR B AR gdel o g,
O ST @RUT 2 m/s2 8 STAT & | ST T
i
(1) 80N
2) 50N
(3) 60N
4) 70N
W o1gell A, B3R C & & Wad HA 1.92
eV,2eValk 5ev & &9 @ urgd 4100A
Wi & faferor & folv wieisdae[ Scafia
FRI;?
(1) el A (2) Bael B
(3) A3IRB M (4) Bad C
& g gfd #, URWRS URd@ NG 4T
BIIT?
= a—
])\
—b—
(1) ;L:In(1+zibj @) MLﬂaln[1+2£aJ
3) ;L:In[1+gj 4) ;L:In[1+gj
Al ik g 1 B gafera R |
T - | T -
(Ragd drsH) (@7 <& (nm))
A.n,=3ton, =2 I. 410.2
B. n, =4ton, =2 I1. 434.1
C.n,=5ton, =2 IIl. 656.3
D. n, =6ton, =2 IV. 486.1

(1) A, B-IV, C-ll, D-l
(2) A-IV,B-lll, C-I,D-ll
(3) A-l,B-Il, C-lil, D-IV

4) A-ll,B-1, C-IVv,D-lll

37.

38.

39.

40.

A block of mass 10 kg is pushed up on a smooth
inclined plane of inclination 30°, so that it has
acceleration 2 m/s2. The applied force is

(1) 80N

(2) 50N

(3) 60N

(4) 70N

The work functions of three metals A, B and C are
1.92 eV, 2 eV and 5 eV, respectively. Which metals
will emit photoelectrons for a radiation of

wavelength 4100&?
(1) Aonly (2) Bonly
(3) BothAand B (4) Conly

In the given figure, what will be the coefficient of
mutual inductance?

= a—
])\
b —>|

Bl 1+ 2 Bl (g, D
(M ox [ "2 @ 7" " 2a
3) MLaln(1+ij 4) MLaln(1+gj

2n b I a
Match List-l with List II.
List -1 List -1l
(Spectral Lines of (Wavelengths (nm))
Hydrogen for transitions
from)
A.n,=3ton, =2 l.410.2
B.n,=4ton =2 Il. 434.1
C.n,=5ton =2 lll. 656.3
D.n,=6ton, =2 IV. 486.1

(1) A-ll,B-Iv, C-ll, D-l
(2) A-lvV,B-lll, C-I,D-ll
3) A, B-ll, C-lll, D-IV
4) A-ll,B-I,C-1V,D-lll
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(1) 13.6eV
(2) 20.4eV
(3) 3.4eV

(4) 6.8eV
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If potential energy of first excited state of
hydrogen atom is taken zero, then kinetic energy
of ground state electron in the hydrogen atom is
(1) 13.6eV

(2) 204 eV

(3) 3.4eV

(4) 6.8eV

In an experiment, the measurement of diameter
of a wire of length 5.0 cm with help of screw
gauge, the main scale reads 1 mm and 48th
division on circular scale coincides with reference
line. There are 100 divisions are on circular scale.
If the pitch of the screw gauge is 1 mm, then
volume of the wire is

(1) 0.019cm?

(2) 0.026 cm?

(3) 0.086 cm?

(4) 0.046 cm?

Let the moment of inertia of a hollow cylinder of
length 30 cm, inner radius 11 cm and outer radius
15 cm about its axis be I. The radius of a thin
cylinder of the same mass such that its moment of
inertia about its axis is also |, is found to be x cm,
then the value of x is

(1) 145

(2) 105

(3) 13.1

(4) 185

In the following electric circuit, calculate the
effective resistance between A and B.

1 2Rr
(1) R+r

@ 2R+

2Rr
@ 3R+




45. Q 3JF ATl UF SN ATdd VIiell U AR

Hofad aIde @A NaeR @i 9 fBRT gam
g1 9MT f5 S Mol @ ¥ag iR @ga @A
P I waE @ 99 vaiaR v 21 Ik @a @
-3Q A AT 91, O S ] "asl & §9 4w
fovaiar @ grm?

(1) 2V

45. A solid conducting sphere having a charge Q is

surrounded by an uncharged concentric
conducting hollow spherical shell. Let the
potential difference between the surface of solid
sphere and that of the outer surface of hollow shell
be V. What will be the new potential difference
between the same two surfaces, if the shell is
given a charge -3Q?

(1 2V

@) V
(3) 3V

(4) None of these




TOPIC : FULL SYLLABUS

46.

47.

48,

Atomic Masses : H=1, He=4, C=12, N=14, 0=16, Na=23, Mg=24, P=31, S=32, C|=35.5,
K=39, Ca=40, Fe=56, Cu=63.5, Br=80, Ag=108, 1=127, Ba=137, Au=197, Pb=207

= Qr o fay MU ®
DY | :

I ReRich, °Tdid & AT gadl & Sfd AhI0T Holl
gedl 8 3R aI9ar gedT 2 |

DY Il :

e ERT U AU BT YIS GaTll & forde U Holl
AfhIT Holl & dRaN T ST SATST Bl 2 |

SR doFl & "ol #§ 9 Ry W et
H Haifed SUYa SaRk & g DY ¢
(1) B | 3R HAF || T TTeld 2 |

(2) BUF | ST § b HAH 11 7Ted B |

(3) PUT | eI & AfhT B 11 92T 2 |

(4) FoF | 3R PAF Il AT ALY 2 |

f=fafRad & 9 @19 91 o9ur ooy fAems o
waitre aNg ©

(1) CH,COOK

(2) FeCl,
(3) Pb(CH,CO0),
(4) AICN),

fafd @1 CO, ¥ NaOH &1 SufRerfa #
(ereig®veT gr1) A X 9@ S ]l
21 X3 (CH,C0),0 ¥ H,S0, & IIART AT &Y
SuRegfa # fhaT M W 96T ®

(1) ) @/OH

COH
CO,H (@]
@) @) o~ o
COH @i oM
Q_ _CH,

46.

47.

48,

Given below are two statements :
Statement I:

Rate constantincreases exponentially with decreasing
activation energy an incrasing temperature.

Statement Il :

e=eRTrefer to the fraction of molecules with energy
equal to or greater than activation energy.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statement lis correct but Statement Il is incorrect
(3) Statement lis incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct.

Which of the following salts is the most basic in
aqueous solution ?

(1) CH,COOK
(2) FeCl,

(3) Pb(CH,CO0),
(4) AICN),

Phenol on treatment with CO, in the presence of
NaOH followed by acidification produces
compound X as the major product. X on treatment
with (CH,CO),0 in the presence of catalytic
amount of H,SO, produces :

@]
PN cH
@] CH
O\C/Oﬁé/
(1) @) OH
CO,H
CO,H (@)
) kCH
(3) con @) @io :
2 COH
Q_ _CH, ’




49,

50.

51.

52,

freforRaa ARl & adigar &1 dedr B9 =

(@ ~ AN (b) ~ANH
NH, P
© A\ (d) “SNHCH,

(1) (b)<(a)<(c)<(d)
(2) (b)<(a)<(d)<(c)
(3) (d)<(b)<(a)<(c)
4) (@) <(b)<(c)<(d)

Yehlsy &I AU HRH R s a1 g/
TedhI g1 ®

2) Na/I|q NH,

(
(
(3) Sn-HCI
(

4) H,-Pd/C, BaSO,
frfafes § q@a Sw| 8hm

o
(1) ij @ é/

OMe OMe
3) 4)

frafafaa & o9 @ uw fed afifsar gg
q9 & o) ReRie K W) feivar sar & 2 -

NaOMe
MeOH

Ink \ InkV InkV
1T 1/T LT
(A) (C)

(1) A

) B

@ C

(4) IS TE

49,

50.

51.

52,

The increasing order of basicity of the following

compounds is

(@) A

NH,
© Ay

1) (b) < (a) < (c) < (d)

(1) (b) <(a)<(c)<(

(2) (b)<(a)<(d)<(c)
(3) (d)<(b)<(a)<(c)
(a) < (b) <(c) < (

@) (a)<(b) < (c) < (d)

b) ~ANH

(d) S NHCH,

The trans-alkenes are formed by the reduction of

alkynes with :
(1) NaBH,
(2) Na/liq.NH,
(3) Sn-HCI
(

4) H,-Pd/C, BaSO,

The major product of the following reaction is :

N\ 7/

(1)

OMe
)

OMe
4)

NaOMe
MeOH

@)

Which of the following graph correctly show the
temperature dependence of rate constant, K, for

an reaction :
Ink InkV
| T 1T | T
(A) (B) (C)
1) A
2) B

(
(
3) C
(4) None




53.

54,

55.

fr=faRea afafear &y S @

©§‘V :
_—
Heat

1 A el fAeas & fog feferea difet
¥ I 9aiide oo yaRid s

(1) [Co(H,0),CIICL,H,0
(2) [Co(H,0),CL]CI.2H,0
(3) [Co(H,0),C1.].3H,0
(4) [Co(H,0).]CI,

s 1 affpar & fay fr=fafea gass =g
|ihaar BT dgdT g HA BN :

i.  CHz CHCH,CHj
|
Cl

ii. CH,CH,CH,CI

iii. p-H,CO-C_H,~CH.CI
(1) il <ii < i

@) i <i <iii

3) i <iii <ii

@) i <iii <i

53.

54,

55.

The major product formed in the following
reaction is :

O~ H
©:\ Heat
) ©:‘\I

|

2 @‘\OH
|
|
o
OH
" ©:‘\0H
OH

For 1 molal aqueous solution of the following
compounds, which one will show the highest
freezing point :

(1) [Co(H,0).CIICL,H,0
(2) [Co(H,0),CL]CI.2H,0
(3) [Co(H,0),CL.].3H,0
(4) [Co(H,0).]Cl,

The increasing order of the reactivity of the
following halides for the S 1 reaction is

i. CHs (3|HCH2CH3
Cl

ii. CH,CH,CH,CI

iii. p-H,CO-C.H,~CH.CI
(1) il <ii < i

@) i <i <iii

3) i <iii <ii

@) i <iii <i




56.

57.

58.

59.

BIggio WATY vg fgda digy e @ o

(<l fAIdi® h = 6.6262 x 103 Js; SAGET BT
THA = 9.1091 x 10-*' kg; SAIGETT BT AAY =
1.60210x 10-°C; <, = 8.854185 X 10-"2kg™ m= A?)

(1) 1.65A
) 476 A
(3) 0.529 A

4) 2.12 A

% gddl 3 HA 9 G &R (BOH) 3 PK, @
PK, S%1: 3.29 3.4 2 | &IaUT (AB) fde™e &T PH
B

WRIgATss B SuReft #§ 3-Afd-U<-2-57 &)
HBr ¥ JIfAfpar oM R INMTHSG ST g1
2 Sare @ fou ffew gaege & e srf:

T affhar R, @ R, 3¢ W9 Y& HMI®E
$REG & R, I AHIT Hai R, § 10 kJ mol-
afdrs &1 afy sififisar R, 9 R, 3F 300 K R &
ReRi® k, T k, 8 Al In(k,/k,) BT AF BRI :

(R=8.314 J mol"'K-)

56.

57.

58.

59.

The radius of the second Bohr orbit for hydrogen
atomis :

(Plank's const. h = 6.6262 x 1034 Js ; mass of
electron = 9.1091 x 103" kg ; charge of electron
e = 1.60210 x 10" C ; permittivity of vaccum
eg =8.854185 X 10'2kg~" m= A?)

(1) 1.65A
2) 476 A
(3) 0.529 A

4) 2.12 A

pK, of a weak acid (HA) and pK, of a weak base
(BOH) are 3.2 and 3.4, respectively. The pH of their
salt (AB) solution is :

3-Methyl-pent-2-ene on reaction with HBr in
presence of peroxide forms an addition product.
The number of possible stereoisomers for the
productis :-

(1) Six
(2) Zero
(3) Two
(4) Four

Two reactions R, and R, have identical pre-
exponential factors. Activation energy of R,
exceeds that of R, by 10 kJ mol-. If k, and k, are
rate constants for reactions R, and R, respectively
at 300 K, then In(k,/k,) is equal to :-

(R=8.314 J mol'K-")




60.

61.

62.

63.

fear & 7
C graprivey ¥ 0,(9) = CO,(9)
= -393.5 kJ mol-'
H,(g) + 1/2 0,(g) - H,0(I)
A He = -285.8 kJ mol-!
CO,(g) +2H,0(l) - CH,(g) +20,(g)
A He° = +890.3 kJ mol

SWd 4 R SHE WA afafearei | 298
KW AHe &I 919 NI :

C + 2H,(g) - CH,(9)

GrTee)
(1) +74.8 kJ mol
(2) +144.0 kd mol*
(3) —74.8 kd mol’
(4) —144.0 kJ mol™

fa=fafaa & o & affpar xeSrea afdfhar
BT SQIET ®

(1) XeF, +O,F, > XeF,+O0,

(2) XeF,+ PF_—> [XeF]*PF-

(3) XeF,+H,0 — XeOF, + 2HF
(4) XeF,+2H,0 — XeO,F,+ 4HF

0.2 g WiIfed 3 &I 20 g o9 § fiam W
dSfT &1 TeHie 0.45°C Heal & | afe vdifes
T BT GIoH fgd®d 9T & @ THifesd
A BT S § Gee yfoewd Bnm

(@9 & fag K =5.12 K kg mol)

(1) 64.6%

(2) 80.4%

(3) 74.6%

(4) 94.6%

100 mL 0.1 M CoCl_.6H,0 faea & wrr snifere
# AgNO, & &I fhal &M W 1.2x102 3T
Faaifda g @ a1 Afe @

(1) [Co(H,0), CLICI.2H,0
(2) [Co(H,0),C1.].3H,0
(3) [Co(H,0),]Cl,

(4) [Co(H,0).CIICI,H,0

60.

61.

62.

63.

Given
C(graphite) +0,(g) - CO,(g)
=-393.5 kJ mol™
H,(g) +1/2 0,(g) > H,0()
A H° =-285.8 kJ mol~'

CO,(g) + 2H,0(l) » CH,(g) + 20,(9)
A H° = +890.3 kJ mol~

Based on the above thermochemical equations,
the value of A H° at 298 K for the reaction:

C grapnite) + 2H,(9) = CH,(g) will be :
(1) +74.8 kJ mol-’

(2) +144.0 kJ mol-

(3) —74.8 kJ mol-"

(4) —144.0 kJ mol-'

Which of the following reactions is an example
of a redox reaction ?

(1) XeF,+O,F,— XeF, +0,

(2) XeF,+ PF, — [XeF]PF,-

(3) XeF,+H,0 — XeOF, + 2HF
(4) XeF,+2H,0 — XeO,F, + 4HF

The freezing point of benzene decreases by
0.45°C when 0.2 g of acetic acid is added to 20 .g
of benzene. If acetic acid associates to form a
dimer in benzene, percentage association of
acetic acid in benzene will be :-

(K, for benzene = 5.12 K kg mol™')
(1) 64.6%
(2) 80.4%
(3) 74.6%
(4) 94.6%

On treatment of 100 mL of 0.1 M solution of
CoCl, .6H,0 with excess AgNO_; 1.2x10% ions are
precipitated. The complex is :

(1) [Co(H,0), CLICI.2H,0
(2) [Co(H,0),C1.].3H,0
(3) [Co(H,0)JCl,

(4) [Co(H,0).CIICI,H,0




64.

65.

66.

67.

68.

1 g BIEAE B HCI ¥ | fbar evM W
0.01186 A CO,¥7aT & d M,CO, BT HleR
SHAE BN

(1) 1186

2) 84.3

(3) 1186

(4) 11.86

fear T @
E°C  =136V,E°, ~ =-074V
Cla/Cl Cro7 /Cr
E° =1.33V,E° =1.51V

Clp02~ /Cr3* MnOZ /Mn2*

SWigg feu 13 AfefiaRs & &9 4T

sfcfieRed F99 Uael © :
(1) Cl, (2) Crs
(3) Cr,0,~ (4) MnO,-

S AMAfHar #, NaOH @ Br, U0 Al ¢
@ Al B FE gar grf o

(1) NaOH & dR HieT 3iR Br,® U Al
(2) NaOH & U& HId 31k Br,® U Al
(3) NaOH & dR HId 3iRR Br, & al dld
(4) NaOH @& T |l 3iR Br, & al dld

faefafera atfirel & 19 91 gaefiy
FHTgIgar eiRfa &xar ®

(1) [Co(NH,),CLICI
(2) [Co(NH,),CL]
(3) cis[Co(en),CLICl
(4) trans[Co(en),CL,ICI
(en = ethylenediamine)

fr=fafea & o9 91 g9 999 gaag el
$T § :[At. No.: Cr =24, Mn = 25, Fe = 26, Co = 27]

(1) [CoCl,J- 3R [Fe(H,0).]*"
(2) [Cr(H,0)* 3R [CoCl,]-

(3) [Cr(H,0),F 3R [Fe(H,0)
(4) Mn(H,0).J>* 3R [Cr(H,0) ]

64.

65.

66.

67.

68.

1 gram of a carbonate (M,CO,) on treatment with
excess HCI produces 0.01186 mole of CO,, the
molar mass of M,CO, in g mol'is :

(1) 1186

(2) 84.3
(3) 118.6
(4) 11.86
Given
E° =136V, E° 34 =-0.74V
Cla/Cl Cro7 /Cr
E° =1.33V, E° =1.51V
Cho2~/cr3t MnOZ /Mn2+

Among the following, the strongest oxidising
agentis :
(1) Cl, (2) Cre
(3) Cr,0,~ (4) MnO

In the Hofmann bromamide degradation reaction,
the number of moles of NaOH and Br, used per
mole of amine produced are :

(1) Four moles of NaOH and one mole of Br,
(2) One mole of NaOH and one mole of Br,
(3) Four moles of NaOH and two moles of Br,
(4) Two moles of NaOH and two moles of Br,

Which one of the following complexes shows
optical isomerism :-

(1) [Co(NH,),CLICI
(2) [Co(NH,),Cl]
(3) cis[Co(en),Cl,ICI
(4) trans[Co(en),CL]Cl
(en = ethylenediamine)

The pair having the same magnetic moment is:
[At. No.: Cr =24, Mn = 25, Fe = 26, Co = 27]

(1) [CoCl,J>and [Fe(H,0),J*
(2) [Cr(H,0).> and [CoCl, -
(3) [Cr(H,0).J? and [Fe(H,0) "

@) [Mn(H,0),J*and [Cr(H,0).F*




69.

70.

71.

72

Li, Na 3R K& a7 & ofdqg # <& fowan
IRE W T JifedEs HRE I

(1) Li,0, Na,0, 3R KO,
(2) Li,0, Na,0 3R KO,

(3) LiO,, Na,0, 3R K,0
(4) Li,0,, Na,0,3/RKO,

298 K 19 UxX JfHfpar A+B=C+D &I
TR ReRie 100 2 1 A UA® &1 URMS
A=l 1M 8 @ D (in mol L) & |TRITa=el
NHATsdl Eﬁ"ﬁ :

(1) 1.182
2) 0.182

(3) 0.818

4) 1.818

fr=fafea Adifel § o8 Sl SaEgad
YSRId &

(1) 2-BHd-1-EH

2) 1, 1-SEBHA-1-9199

3) 1-BHd-2-FEH

(4) 3-BfreT-1-gSH

& g efrfear

NH,

NaNO5 /HCI CUCN/KCN
0-5°C A

E+ N2
CH,

S ER

N CH,
CH,
COOH

CH,

69.

70.

71.

72

The main oxides formed on combustion of Li, Na
and K in excess of air are respectively :

(1) Li,0, Na,0,and KO,
(2) Li,0,Na,0and KO,
(3) LiO,,Na,0,and K,0

(4) Li,0,,Na,0,and KO,

272

The equilibrium constants at 298 K for a reaction
A+B = C+D is 100. If the initial concentration of
all the four species were 1 M each, then

equilibrium concentration of D (in mol L") will
be:

(1) 1.182
(2) 0.182
(3) 0.818
(4) 1.818

Which of the following compounds will exhibit
geometrical isomerism ?

(1) 2-Phenyl-1-butene

(2) 1, 1-Diphenyl-1-propane
(3) 1-Phenyl-2-butene

(4) 3-Phenyl-1-butene

In the reaction

NH,
NaNOy /HCI
0-5°C

D CuCN/KCN

E+ N2
CH,

The productE is :

oN CH,
(1) @ ) @

CH,

COOH

CH,




73.

74,

75.

76.

Jffspar 2A =B + C BF 300 K A0 WX AMS®
firsq St gRad 2494.2J 21 To AU 9 W
afffspar fAsor &1 9769 [A]=1/2, [B]=2 3R
[Cl=1/2 aifafshar gt : [R = 8.314 J/K/mol, e
=2.718]

1) 3797 faum i Q <K,
(2) gz faem wfd Q <K,
(3) 3 fa=m @Ifd Q> K,
4) u%g faum e Q> K,

20°C 9 R TS &1 919 <9 185 torr. B |
19 1.2 g SraTIflel ugref @I 20°C 919 W 100
g T # "M WR 9% T9 TR 183 torr. §
A ugref $T AR FEHM (g mol) BN :
(1) 128

(2) 488

(3) 32

4) 64

OH

i.NaOH(aq.) D

Zn/A A

Anhy. AICl, 2Cl,
CH, —CI B A C

IDI

COOH
(1) )
CHO
3) [::j/ “4)
OH
Br Br
@ NaglOszD/HCI H3§) B __Bu/H0
Iifire

COOH

Q

Br

(1)

OH
Br : Br
)
Br

73.

74,

75.

76.

The standard Gibbs energy change at 300 K for
the reaction 2A = B + C is 2494.2 J. At a given
time, the composition of the reaction mixture is
[A]=1/2, [B]=2 and [C]=1/2. The reaction proceeds
in the [R = 8.314 J/K/mol, e = 2.718]

(1) forward direction because Q <K
(2) reverse direction because Q <K,
(3) forward direction because Q > K|
(4) reverse direction because Q> K,

The vapour pressure of acetone at 20°C is 185
torr. When 1.2 g of non-volatile substance was
dissolved in 100 g of acetone at 20°C, its vapour
pressure was 183 torr. The molar mass (g mol')
of the substance is :

1) 128
2) 488
3) 32
4) 64
OH

(
(
(
(

i.NaOH(aq.) D

Zn/A A

Anhy. AICl; B 2Cl, C
A

CH,—CI
COOH
1@

CHO @

NH, OH

Br Br
aNO, H,0* r, /Hy
N (I)\I_OSO/(;-ICI A e B Br, /H,O
Br
H
2)
Br
H
4)

Compound'D'is :

COOH
(1)

(3)

Q Q

Compound'B'is :

(1)

@f ’
OH
Br Br
3)
Br




77.

78.

79.

CH —(lczl:a—CH—CH cone.HSO. A % _,B+cC
s (|) L s 160°C (Majory  H20/Zn
AqAfred A B3R C HoE: ®
CH,

| I
() cH,-C=CH-CH,, CH,~C-CH,, CH,CHO

?Hs I
@ CH,=C—CH,~CH,, CH,—CH,~C—CH,, HCHO

%HZ I
®) CH,-C-CH,~CH,,CH,-C-CH,, HCHO

C|3H3 (|3H3
4) CH,~CH-CH=CH,, CH,~CH-CHO, HCHO
o™ 1 ¥ fou v frfafea goaleldl &)
Bfc™ IH Cu/573 K& 91 Sd) fAfshar &

SR 99 S 9 gHfera difeig dem =
fag 17 Hel 4 ¥ W feww gy -

HicTH-| BieTd-1l
(TedIBld) (SeUTR)

a. 1° Uodhlgel CAE|

b. 2°Uchigd ii. Yo

c. 3°UcHhIgd iii. JoSIETSS

(1) a-iii, b-i, c-ii

(2) a-ii, b-i, c-iii

3) a-ii, briii, c-i

@) a-iii, b-ii, c-i

die® 19 oy v f=afalag siferel ik
Ffrpddl H Hfaw I H oy 7 Sure &
gafera difog o < Ry 17 gef 4 |/ |8

fawen gy -
HicTH-1 BIcTH-1I
(T PRS) (STUTR)
OH
a. @ +Zn i. gvoid
OH
NasCrpO7 .
@ sto4 ii. dfigafesss
c. @ (i)CH%;gNJr:gL\IaOH iii. SvragAA
(iiyH
(1) a-iii, b-i, c-ii (2) a-i, b-iii, c-ii
(3) a-i, b-ii, c-iii (4) a-iii, b-ii, c-i

7.

78.

79.

CH,

| conc. H,S0, 0,
CH~CH-CH-CH, — 5> A —ois > B+ C
OH
Afirs A, B, &k ¢ HAE ®
CH,

| I
() GH,—C=CH-CH,, CH,~C-CH,, CH,CHO

g i
) CH,=C-CH,~CH,, CH~CHC~CH,, HCHO

T 0
®) CH,-C-CH,~CH,,CH,~C~CH,, HCHO

T i
“) CH,~CH-CH=CH,, CH,—~CH-CHO, HCHO
Match the following alcohols given in Column |
with the product formed during their reactio with

Cu/573 K in Column Il and choose the correct
option from the codes given below :

Column- Column-I
(Alcohol) (Product)
a. 1°alcohol i. Ketone
b. 2%alcohol ii. Alkene
c. 3%alcohol iii. Aldehyde
(1) a-iii, b-i, c-ii
(2) a-ii, b-i, cii
(3) a-ii, b-iii, c-i
(4) aiii, b-ii, c-i

Match the following reactants and reagents given
in Column | with the product given in Column Il
and choose the correct option from the codes
given below :

Column- Column-
(Reactant) (Product)
OH
a. @ +Zn i. Benzene
OH
NapyCrpO7 . .
@ H2804 ii. Salicylaldehyde
H
c. @ ()CHCI3+agNaOH | jjj, Benzoquinone
(i) NaOH
(iiyHT
(1) a-iii, b-i, c-ii (2) a-i, b-iii, c-ii
(3) a-i, b-ii, c-iii (4) a-iii, b-ii, c-i




80.

81.

82,

83.

84.

gisgioid Efad &1 suggd fovg womoe
BN Ife

(1) p(H,) = 1 atm 3R [H]=2.0 M
(2) p(H,) =1 atm 3R [H]=1.0M
(3) p(H,) =2 atm 3R [H]=1.0 M
(4) p(H,) =2 atm 3R [H']=2.0 M

T T X, Y 3R Z 3rad IReN 7 3¢ A H
B HHI: X, Y AR Z P ATFATSS &N,
SIS SR o BIX, Y &R 23 TRATY
HHIG BT Tel HH

(1) Z<Y<X
2) X<Y<Z
(3) X<zZ<Y
4) Y<X <Z

IMAT gATEIT B €& &I Hed HH Bi
foral -

i. [Fe(H,0)J ii. [Fe(CN)J*>
iii. [Fe(CN).J- iv. [Fe(H,0)J"
(1) i, ii, ii 3R iv
) v, i, i 3 jii
@) i, iii, i 3R iv
@) v, i, i 3 jii
Iy e o

Iifre sarfady
(1) BF, i Taaa
(2) PCI, IECRIDRFHENIES
(3) SF, T FHAA
(4) BeCl, REE|p]

fa=faRaa a1 oo Ry W € & FU9-1 9
R T FUE-Il ¥ Ades |

-1

BCI, Brafi woae € @ PCI, By fgfivifis 2|
HUH-II:

BCI, # B &I sp2d PCI, H P & sp’d AR & |
SRIFT FUFEI & IS H Fal 999 N, -
fay Ty fogedl § wE SR g

(1) B | 3R B Il T TeId 8 |

(2) BUF | T8I & Afh B Il TeId 7 |

(3) HU | T 8 <ifhT B Il T B |
(

4) DU | 3R B Il ST T E |

80.

81.

82,

83.

84.

The reduction potential of hydrogen half-cell will
be negative; if :

(1) p(H,)=1atm and [H*]=2.0 M
(2) p(H,) = 1atmand [H']=1.0 M
(3) p(H,)=2atmand [H']=1.0 M
(4) p(H,)=2atm and [H]=2.0 M

Three elements X, Y and Z are in the 3 period of
the periodic table. The oxides of X, Y and Z,
respectively, are basic, amphoteric and acidic.
The correct order of the atomic numbers of X, Y
andZis:

(1) Z<Y<X

(@) X<Y<Zz

(3) X<zZ<Y

@) Y<X <Z
Arrange the following in order of decreasing
number of unpaired electrons :

i. [Fe(H,0)JF* i. [Fe(CN)J*
iii. [Fe(CN)J* iv. [Fe(H,0)F*
(1) i, ii, iii and iv
(2) v, ii, i and iii
(3) i, iii, i and iv
4) iv, i, ii and iii
Find the incorrect match:

Compound Geometry
(1) BF, Trigonal planer
(2) PCl, Trigonal bipyramidal
(3) SF, Square planer
(4) BeCl, Linear

Given below are two statements : one is labelled as
Stement-l and the other is labelled as Statement-II.

Statement-I:
BCl, is trigonal planer while PCl, is trigonal bipyramidal.
Statement-I|

B in BCI, is sp? hybridised while P in PCI, is sp*d
hybridised.

In the light of the above statements, choose the
correct answer from the options given below :

(1) Both Statement | and Statement Il are incorrect

(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement |l is correct
(

4) Both Statement | and Statement Il are correct.




85. [Co(NH,).(NO,)ICI, ®T M. JULgHL 9 2 :

(1) ATSS-N-UIUATST Bidrec(ll) FARTSS

(2) AEC-N-UCTTATSH DIETeC (1) FARISS

(3) UCIUHATS TS S-N-DhIdree(ll) TR S

(4) U<ITHTSTATg S -N-DhIdTec(ll) FINTgSS

86. gdi—I & ANl ¥ FAfera |

A1 -2
A. [Co(NH,)JICr(CN)] (i) fefest wHTage
B. [Co(NH,),NO,),] (O RESIREANRICDERI
C. [Cr(H,0)]Cl, (iii) PI—aMfS~Ie FHTIIedT
D. cis-[CrCl(ox),]*  (iv) eIl HATIIET

T Ry 1 RAeed & ¥ 98 ) A |
(1) A-ii, B-i, C-iii, D-iv
(2) A-iv, B-ii, C-iii, D-i
(3) A-iii, B-i, C-ii, D-iv
(

4) A-i, B-ii, C-iii, D-iv

87. PO” 3T ¥, UG SMG¥Ie WHIY # HHd

A9 SR P-O 9% HH HAM: ¥
(1) —0.75,0.6

2) —0.75,1.0

(3) -0.75,1.25

4) =3,1.25

88. YAI—I ®I G-Il & FAfed B

qA1-1 qA1-1
(31) (T HIfe)
(a) Ne, (i) 1
(b) N, (ii) 2
(c) F, (i) 0
(d) O, (iv) 3

T Ry T el § 9 |98 S g
(1) (@)—
@2 (@)—
@) (@)—
4) (a)—>

(iii), (b) = (iv), (c) — (i), (d) — (ii)
(i), (B) — (ii), (c) — (iii), (d) — (iv)
(ii), (b) = (i), (c) — (iv), (d) — (iii)
(iv), (b) — (i), (c) — (i), (d) — (i)

85.

86.

87.

88.

The IUPAC name for the complex [Co(NH,).(NO,)]ICI,
is:

(1) nitrito-N-pentaammine cobalt (I11) chloride

(2) nitrito-N-pentaammine cobalt (Il) chloride

(3) pentaamminenitrito-N-cobalt(ll) chloride

(4) pentaamminenitrito-N-cobalt(lll) chloride

Match List-l with List-Il

List-1 List-1l

A.[ [Co(NH,)JICr(CN) ]

—
=

Linkage isomerism

B.| [Co(NH,).NO,),] (ii)| Solvate isomerism

C.| [Cr(H,O),]Cl, (iii) Co-ordination
isomerism
D.| cis-[CrCl,(ox),]* (iv) Optical isomerism

Choose the correct answer from the options given
below.

(1) A-ii, B-i, C-iii, D-iv

(2) A-iv, B-ii, C-iii, D-i

(3) A-iii, B-i, C-ii, D-iv

(4) A-i, B-ii, C-iii, D-iv

In PO* ion, formal charge on each oxygen atom
and P-0O bond order respectively are :

(1) -0.75,0.6
(2) -0.75,1.0

(3) -0.75,1.25

4) -3,1.25

Match List-l with List-Il

List-l List-ll
(Molecule) (Bond order)
(a) Ne, (i) 1

(b) N, (i) 2

(© F, (iii) 0

(d) O, (iv) 3

Choose the correct answer from the options given
below :

(1) (@)~ (iii), (b) = (iv), (c) — (i), (d) — (ii)
(@) (@) — (i), (b) = (ii), (c) — (iii), (d) — (iv)
(3) (@) — (i), (b) = (i), (c) = (iv), (d) — (iii)
4) (@)= (iv), (b) — (iii), (c) — (ii), (d) — (i)




89.

90.

&f¥HAT: CH,Cl, 3Jd & 3R CCl, gard a7 7 |
R I faga meget arer o] uefa # egd
BT B |

(1) oo \E € T BROT W FEl B, HRO
BT P &I IRAT R ¢ |

(2) aIfymed HE & 91 HRI I W 8, BRU
BT P T ARAT LT BT 2 |

(3) MfHHYT AL 8, BRI Taid ©
(4) AP T B, RV e &

1 gr=ieE aigell & dAFaass & aR"
T FT HH & :(Atomic no’s. Ti =22,V =23, Cr =
24, Fe = 26) :

(1) VO > CrO > TiO > FeO
(2) CrO> VO >FeO > TiO
(3) TiO > FeO >VO > CrO
(4) TiO > VO > CrO > FeO

89.

90.

Assertion :
molecule.

CH,CI, is non-polar and CCl, is polar

Reason : Molecule with zero dipole moment is non-
polar in nature.

(1) Assertion is correct, reason is correct, reason is
the correct explanation for assertion.

(2) Assertion is correct, reason is correct, reason is
the not correct explanation for assertion.

(3) Assertion is correct, reason is incorrect

(4) Assertion is incorrect, reason is correct

The basic character of the transition metal
monoxides follows the order (Atomic no’s. Ti =
22,V =23,Cr=24,Fe =26):

(1) VO > CrO > TiO > FeO
(2) CrO > VO > FeO > TiO
(3) TiO > FeO > VO > CrO

(4) TiO > VO > CrO > FeO




TOPIC : FULLSYLLABUS

1.

92

93.

94,

95.

fiell dWodl & foav 91 fAeey &1 @19
BN

a. CoISRIARd

b. HATHMH BRI
T

TR 3R DIl

o

o

e. SISHY 3R TR
1) a,b,c,d

2) ddda, b, c

3) a,b,c,e

4) |+

~ N S~

(1) A-l, B-Il, C-1ll, D-IV

2) A-ll, B-lll, C-IV, D-I

(3) A-IV, B-I, C-II, D-Ill

(4) A-ll, B-l, C-lll, D-IV

egre & fAEfor g @

(1) qafawer |

(2) HeATaRET |

(3) TZHTaRE |

(4) SRR |

WM GREV & F99 BN
1) 911§

2) Sdd FGag

3) AETerd ® Wil 3R Safrar ysTs
4) WETH §&

Sitfi—&3 9wy fear ™ &

(
(
(
(

9.

92.

93.

94,

95.

Select the correct option for family Brassicaceae
a. Tetradynamous

b. Cruciform corolla

c. Replum

d. Glumes and Rachilla

e. Dimerous or Tetramerous flower

(1) a,b,c,d
(2) Only a, b, c
(3) a,b,c,e
@) All

Select the correct match

A. Elephant I. Respiration by lungs
B. Pigeon IIl. Crop and gizzard
C. Viper lIl. One ventricle

D. Balanoglossus IV. Stomochord
(1) A-l, B-Il, C-lll, D-IV
(2) A-ll, B-lil, C-1V, D-l
(3) A-lV, B-I, C-Il, D-lII
@) A-ll,B-I, C-lll, D-IV
Tetrad is formed in
(1) Prophasel

(2) metaphase |

(3) Anaphasell

(4) Telophasel

Select the In-situ conservation:
(1) Seed bank

(2) Tissue culture

(3) Khasi and jaintia Hills

(4) Pollen bank

The species area relationships are given by:
(1) Indian naturalist Alexander von Humboldt
(2) German Naturalist David Tilman

(3) German Naturalist Edward wilson

(

4) German Naturalist Alexander von Humboldt




96.

97.

98.

TE SJOUT BT TIT BN

A. PTH . Y& H TeIdreT Bl
R HeIdl &

B. TCT Il 3ad H Ca2 &l WX
9gIaT ®

C. &N lll. Y& ¥ @Il BT WIR
9gIa ©

D. sgfer IV. eI H Ca?2 T WR

Terdr 8
(1) A-l, B-Il, C-lll, D-IV
) A-l,B-Il, C-IV, D-lII
(3) A-ll, B-1V, C-lII, D-|
(4) A-IV, B-l, C-II, D-lIl
TE STOUT BT TIT BN

A. J&H . Ut 3rRer
B. <HIRe 3rfRer Il. HIHD TS
C. hYell . o #REer
D. diadel 3rRer IV. 3T gl

(1) A-ll, B-1, C-IV, D-III

@) A-l,B-Il, C-lll, D-IV

(3) A-IV, B-llI, C-ll, D-|

(4) A-ll, B-II, C-I, D-IV
= g U Q@ A F
DY -1:

fa%eT & SRM PIRIGRI U HIHARN Td Shagad
FI H 1 AT BB AUS AAAHD daadi | oIl
gl

DY -1l :

JYTaRoT & HRYT fasquoiar &1 fderT dexepy § grm
ST 2 |

T Ry el § ¥ w98 Sax g+
(1) TFT $UF 1 3IR HAF |1 7T 2 |

(2) BUF | e TR B I TeAd B |
(3) HAF | TTAd & IR HAT 1 F 2|
(4) BT PAT 13 B 11 FE B |

96.

97.

98.

Select the correct match

A. PTH I. Decreases the glucose
level in the blood

B. TCT Il. Increases the Ca*level
in the blood

C. Glucagon lll. Increases the glucose
level in the blood

D. Insulin IV. Decreases the Ca*

level in the blood
(1) AL, B-ll, C-lll, D-IV
(2) A-l,B-ll, C-IV, DAl
(3) A-ll, B-1V, C-lll, D-l
4) A-IV, B-1, C-Il, D-liI

Select the correct match

A. Sacrum I.  Cranial bone

B. Temporal Il. Vertebral column
bone

C. Scapula lIl. Pelvicgirdle

D. Coxal bone IV. Pectoral girdle

1) A-ll, B-I, C-IV, D-llI
2) Al B-Il, C-lll, D-IV
3) A-IV, B-lll, C-II, D-l
4) A, B-ll, C-l, D-IV

~ N S~

Given below are two statements :
Statement I:

During differentiation, cells undergo few to major
structural changes both in their cell walls and
protoplasm.

Statement Il :

Heterophyllous development due to environment occurs
in buttercup.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

1) Both Statement | and Statement Il are incorrect

(

(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(

4) Both Statement | and Statement Il are correct.




99.

100.

101.

102.

3 ey T < = §

DY -1:

SATFEAH ATIS AR W g qTereh fhaT Hetrdl 7 37ram

=

DYd -1l :

Bl & b B SR SATST TDBIIHIATT BT Iy

@I gfg HIAT T UBRRILANYT Bl gig # (A & 39

ded Bl FASAfdcd THTITAIATI Had B |

o Ry fAwent # 4 9 Sox T

(1) TFT $UF 1 3IR HAF |1 7TeAd 2 |

(2) BUF | e TR B I TeAd B |

(3) PUF 17T & IR B || H2l 3 |

(4) BT AT 13 BT 11 FE B |

AABUT (A): BT 81 D I8 § HUSH & SYANT H

ol | gfg g8 B

RO (R) : AHT B A HUSH oA =1 #

SyARfY 8 | AfdhT T8 STIs 3RAIDS & SUATHAT BT

gReT Al Ue BRIl & |

(1) AT (A) 3R (R) W& & 3R (R), (A) &1 F&l
R 8! BT B |

2) (A) |8l § W] (R)9al T8l ©

(3) (A) |8l &1 8 g (R)Wel ©

@) SHI (A) 3R (R)FET & 3R (R), (A) DI el IR
BT 2 |

TE STOUT BT TIT BN

A. pO, - 104 mmHg — g HUHT TR

pO,— 95 mmHg — TR e

pCO, —45 mmHg — &dd IR

. pCO, — 40 mmHg — a1 HUHT TR

(1) AC,D

2) A B, C

3) A B, D

@) |

IRe @ fay 98 FoF &1 99 W

(1) SISITUSTAA JATSTIT & MR Had & ATI—TeT
P g9 2 3R dIovs ded WR Rerd v8d
21 ST T BN g1 2 |

(2) SISTUSTEA el BIAT © 3R dISvS aghre
VST TR o B B |

(3) dINITTS TS & A fAfcd uR T ue
99 & BRI & PISd H faved 8 Srar 2 |

(4) dISITTE I HeET H B © SR I Y ARl
g1

O oW

99.

100.

101.

102.

Given below are two statements :

Statement I:

Ethylene is largely an inhibitor of growth activities
Statement Il :

Ethylene enhances the photosynthesis rate during
ripening of the fruits this rise in rate of photosynthesis
is called photosynthesis climactic.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct.

Assertion (A): Use of condoms has increase in recent
years.

Reason (R) : Generally condoms are useful in birth
control but it also protect the user from STls and AIDS.

(1) Both (A)and (R) are true but (R) is not the correct

explanation of (A)

(A) is true but (R) is false

(A) is false but (R) is true

Both (A) and (R) are true and (R) is the correct
explanation of (A)

Select the correct match

A. pO,—104 mmHg —Atalveoli

B. pO,-95 mmHg - Deoxygenated blood
C. pCO,—45 mmHg —At tissue

D. pCO,-40 mmHg—At alveoli

1) A C,D

2) A, B,C

3) AB,D

4) All

Select the correct statements for Primrose

(
(
(
(

(1) The placentaforms aridge along the ventral suture
of the ovary and the ovules are borne on this ridge
forming two rows

(2) The placenta is axial and the ovules are attached
to it in a multilocular ovary

(3) The ovules develop on the inner wall of the ovary
or on peripheral part

(4) The ovules are borne on central axis and septa
are absent




103.

104.

105.

# uredia g IMuR R
I 9gE 9 9 Feert 3 R ficdt @
7 aftsr wu 9 gfg oA ? R Sue a”
T} frea arlt @ ok ufaat g@@ udis
CEICIR

@ T agg d R ©IF & W

(1) TSI~

(2) w=st

(3) MSHI-TaT

(4) fofRear

T Q wH Ry v § -

DY |:

TR & Heqgdd & T[0T BT YT SUANT A AR
TR EHIRIBI SaT & T IR 3= YBR Bl
TR # 8T B

DY |l :

DIRTBI—D BT T oI — FeAaa=g A1 g 7fa
|EANT B T |

SWRITd HUHT B Wew # A Ry 1y e #
H Hai0e SUYE SR B T/ DI ¢

(1) B | 3R B |l T TeId 8 |

(2) BUF | eI & Afh BT Il T 7 |

(3) BUF | T B lfhT B || & B |

(4) F | 3R BT Il AT | E |

e BUYT BT TIT BN

a. YOOI & 3R dIsT oI AT B 7 |

b. ¥OT & IS U el R Bl 2| U
RIETT 3MER HUSRYT & HIRYT el s Ud e
Il B |

c. URYUUN 3R FAUSHR DI TS FHH el
Il § |

d. 980 WR Wall o ud 6l & uRadu gg
fafay fopar faftrlt faefa @1 2|

(1) a, b, c
(2) ®ad a, b
@3) a,b,d
4) b,d

103.

104.

105.

In , the lateral branches

originate from the basal and underground portion
of the main stem, grow horizontally beneath the
soil and them come out obliquely upward giving
rise to leafy shoots

Fill in the blank in given sentence
(1) Chrysanthemum
(2) Mustard
(3) Eichhornia
(4) Pistia
Given below are two statements :
Statement I:

The contractile property of muscles are effectively used
for locomotion and other movements by human beings
and majority of multicellular organisms.

Statement Il :

Cytoskeletal elements like microfilaments are also
involved in Amoeboid movements.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

1) Both Statement | and Statement Il are incorrect

(

(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(

4) Both Statement | and Statement Il are correct
Select the correct statements
a. Seeds are formed inside embryo sac

b. The cotyledons of the embryo are simple
structures, generally thick and swollen due to

storage of food reserves
c. Ploidy of perisperm and nucellus are not same

d. Many fruits have evolved mechanisms for dispersal

of seeds
(1) a, b, c
(2) Onlya, b
3) a,b,d
4) b,d

NLI/29



106.

107.

108.

109.

110.

1.

112.

4 BET G 9 AN BT T BN
(1) OAA

(2) ARSIt

(3) THRS 37
(

4) |+

ArgcIBivgar & ETS § Siwaad Il dI9 2

(1) Cytbc,
(2) ATSCIHIH ¢ RIS
(

3) ATP Rreerst

(4) FRiMe feergsifoms
JAMNT ¥a99 Ui SIar &
(1) Rrerger

(2) HSell

(3) uen

(4) THTetrST

URRTSTl U 91T @

(1) 77 ARTsh

(2) 31 ARTSH

(3) UTa AR

(4) BIg 7Tl

dN _
dt
E
(1) N—tFHT R ST o

(2) r—YThidd gig ol sIild o)
(3) K —TIYUT &7

4) r—hal @& 31 B ST HR @ T
TAd ITHAAT BT TAT BN

(1) STFHER — SR 89T § qale

2) JMMYATIT — STTEET g9 H dal

(
(3) SHATAT — AR g-7cd H  HeTai]
(

4) YR — STTAAT TTed H gy

TE STOUT BT TIT BN

A. XTsdTST . gl 3
B. RuBisCO Il 9

C. NADP . e fFari=
D. CH,0, V. UTgide et

1) A-IV, B-l, C-lll, D-l
2) Al B-Il, C-lll, D-IV
3) A-lll, B-1V, C-II, D-l
4) A-IV, B-ll, C-l, D-llI

A~ N S~

rN[%JEﬁmWWWW

106.

107.

108.

109.

110.

1.

112.

Select the 4 carbon containing compound:
(1) OAA

(2) Succinic Acid

(3) FumaricAcid

@) All

In ETS of mitochondria which is the complex Il
(1) Cytbc,

(2) Cytochrome c oxidase

(3) ATP synthase

(4) Succinate dehydrogenase

Pulmonary Respiration occurs in :

(1) Coelenterata

(2) Fishes

(3) Birds

(4) Annelida

Amygdala is a part of:

(1) Mid Brain

(2) ForeBrain

(3) Hind Brain

(4) None

dN K—-N
Select the incorrect match for ot =N T

1) N — Population density at time t
2) r—Intrinsic rate of natural increase

(
(
(3) K- Carrying capacity

(4) r—Represent colour of organism

Select the incorrect match

(1) Natality — Increase in population density

(2) Immigration — Increase in population density
(3) Emigration — Decrease in population density
(

4) Mortality — Increase in population density

Select the correct match

A. Ribose I.  Nucleic acid
B. RuBisCO IIl. Protein

C. NADP lll. Vitamin niacin
D. CHO, IV. Pyruvic acid

1) A-IV, B-l, C-1ll, D-li
2) Al B-Il, C-lll, D-1IV
3) A-lll, B-1V, C-II, D-l
4) A-lV,B-Il, C-I, D-llI

A~ N S~




113.

114.

115.

116.

S BT T Hagd B 9 Had / BRI
% §RI BN B

(1) STrgetd dq
2) X tFTPprEH
(3) TETR BIFRHT

(4) FeleH g
R N fF & foav 98 e o1 o7 &=

(1) fooita sIfeadt Sds
(2) AT WIS SHdd
@) fasita Tifye sas

4) B1g 7T

ffafed § ¥ o9 999 9 AMHR @ T
(1) HTSDIITSHT

(2) fammy

(3) PPLO

@) gpRafes B

e ATEUAT BT T B

A) AR BT 1. dldgfFeess
TS H BRGNS
@) Rifa da Il gD a7 | Il
AT # uRad=
(C) AUG . <rExr &rd
(D) t RNA V. fouferr o9 & ot @
e fewar @

(1) A-l,B-ll, C-lll, D-IV
(2) A-ll, B-I, C-IV, D-llI
(3) A-IV, B-l, C-ll, D-lI
4) A-IV, B-l, C-llI, D-Il

117. 0l & fog @& agwuar &1 o= W

(1) e — sMfed — Xad arfedr
() ddre — Veod — ifd

@) fae — Vod — 3ifa

4) g<u-fes —arwifas five

113.

114.

115.

116.

117.

The radial conduction of water takes place by
which tissue/cells

(1) Xylem fiber

(2) Rayparenchyma

(3) Companioncell

(4) Phloem fiber

Select the correct option for the given diagram

(1) Non living complex tissue

(2) Living permanent tissue

(3) Non living mechanical tissue

(4) None

Which of the following is largest in size:
(1) Mycoplasma

(2) Virus

(3) PPLO

(4) Eukaryotic cell

Select the correct match:

(A) Severoochoa |.  Polynucleotide phosphorylase

enzyme

(B) Sickel cell Il. Change of glutamic acid to
Anaemia valine

(C) AUG lIl.  Dualfunctions

(D) tRNA IV. Look like a clover-leaf

(1) A-l, B-Il, C-lil, D-IV

(2) A-ll, B-l, C-IV, D-llI

(3) A-IV, B-l, C-II, D-llI

4) A-IV,B-l, C-llI, D-II
Select the correct match for muscle
(1) Smooth — Involuntary — Blood vessel
(2) Skeletal — Voluntary — Intestine
(3) Smooth — Voluntary — Intestine

(4) Cardiac — Voluntary — Intercalated disc




118. T ITHUAT P TIT PN
(1) e frafaa —  Plolo ag
NRISIRSRED
2) e Irfafad —  Plolo ag
NRISIRSRED
(3) RBC,WBC — TR SUBAT Hdb
(4) BT —  Hferr fafeT afer
BT AU
119. DA & oIy Tod SIHUAT BT IIT N
(1) 3ifg  EINER
(2) HaoTle! ucd — oIt ST
(3) ThoRISCH — prgfeq
(4) el T - gdad
JMRART
120. 1@ Ry I7 T FoH ¥ :
DY -1:
fadired arved, UrRIfidh 3vsd & N | WRUR PITRIEHT
T BT AT P AT G §
DY -1l :
fgias gea & wrfid ged &) o ¥ wiorery
HIRTBIST B SATST IR B & |

= foy fAeedi # 9 98 S gH
(1) T U 18R HAF 11 7TeAd 2 |
(2) BUF | e TR B I TeAd B |
(3) P 17T & IR B || H2l B |
(4) BT PAT 13 BT 11 FE B |

121. 39 T DI "HeARl @ fov I8 $9 &1 I9q
BN

(1) geb1g g™ - yeal &1 uRudad —
US> HTUA GEIIH BT AT

) gebg fdd™ - yedl &1 uRudad —
BT SIIH BT PRI — oS

(3) BTUA YEH BT fdd™ — Yealy e —
GCh! Bl IRUFET — ITTSIaT|

(4) 3R — JTHII fABM — JedhT BT IRuFa
— PO YA BT AT

118.

119.

120.

121.

Select the incorrect match

(1) Denseregular — Collagen fiber
connective tissue

Dense irregular

Collagenfiber

connective tissue
(3) RBC,WBC —  Fluid ephithelial tissue
(4) Hormone — Secretion of ductless
gland

Select the incorrect match for cockroach

(1) Eyes — Ommatidia

(2) Maxillary palps — Excretory organ

(3) Sclerites — Chitin

(4) Entireforegutis — Cuticle

lined
Given below are two statements
Statement |I:

The secondary oocyte retains bulk of the nutrient rich
cytoplasm of the primary oocyte
Statement Il :

The more layers of granulosa cells are present in
secondary follicles than primary follicles

Choose the correct answer from the option given
below:

(1) Both Statement| and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

Select the correct order for events of menstrual
cycle

(1) Follicular development — maturation of follicle

— ovulation — development of corpus luteum

(2) Follicular development — maturation of follicle
— development of corpus luteum — ovulation

(3) Development of corpus luteum — Follicular
development — maturation of follicle
— ovulation

(4) Ovulation — Follicular development — maturation
of follicle >development of corpus luteum




122

123.

124,

BT (A) : AfTET B B 3fqAT 9 B9 &F 91
3l ! B & SR AT A al B RS
A% el A1 ST @0y |

PR (R) : AT6E U U8 FHIT & SRH Be
ST ® | BTeAif I SMaRor &l HfY o1 eaad AT
Ed R O W) Bhe Hodl & | S 3rolrar Alf
SHIM Bl ST A AT R °lg = AT ATsfdel Fafm
fe Wel gg a1 Afha ARfieRY 31 W % Adbar 2

(1) ST (A) 3R (R) 98I ® 3R (R), (A) &I &8I

R 8! BT & |
2) (A) & T IR (R) WET 21 2
(3) (A) |8l &1 § g (R)Wel ©

4) T (A) 3R (R) 8T B 3R (R), (A) B! T8I RAT
BT B |

W & foy 98 fee &1 9399 &
a. SIS AEl BT fRafead war 2|

b. TqdT & Frafaa w=ar 2 |

c. TSl AR ArAT

d. ¥RR AUEE & FafEa axar g |

e. @M 3R GH &) yad 3T

(1) dadia, ¢ 2) Bl ¢
(3) a,bce @) c,d, e
I fay MY & Fo E

BT -1

NIEE X! 3R ISP RIS FEIUBIRTT BT IETERT =
DY -l :

TMSd H B JaT | FATIeID UNds dedi B SJTTOT
H UTeU} & FETIdl BRd & Sid(d daol H UIqy, Hadl
BT Holl — IATe] BlEBEESC <d o |

T Ry el § ¥ w98 Sax g+
(1) TFT $UF 1 3IR HAF |1 7T 2 |

(2) BUF | e TR B I TeAd B |
(3) HAF | TTAd & IR HAT 1 F 2|
(4) BT PAT |3 B 11 HE B |

122

123.

124,

Assertion (A): The presence or absence of hymeniis

not a reliable indicator of virginity or sexual experience.

Reason (R): The hymen is often torn during the first
coitus however it can also be broken by a sudden fall
or jolt, insertion of a vaginal tampon, active participation

in some sports like horseback riding, cyclling etc.

(1) Both (A)and (R) are true but (R) is not the correct

explanation of (A)

(A) is true but (R) is false

(A) is false but (R) is true

Both (A) and (R) are true and (R) is the correct
explanation of (A)

Select the correct option for cerebrum
Control gastric secretion

Control respiration

Learning and thinking

Control body temperature

® 2 6 T o

Urge for eating and drinking

—_
~

Only a, c

N
~

Only ¢

w
~

a,b,c e

~ A~~~

N
~

c,d e

Given below are two statements

Statement I:

Lichen and mycorrhizae are example of mutualism.
Statement Il :

In lichen the fungi help the plant in the absorption of
essential nutrients from the soil while the plant in turn
provides the fungi with energy - yielding carbohydrates.

Choose the correct answer from the option given
below:

(1) Both Statement| and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct




125. foarl &1 @@ B WIfe WoFIe gRT BTl
2

a. oo

b. AT

C. ﬁﬂmﬁﬂéﬁ
d. SHTSed Bt
e. CISHIANITARNT
(1) ®ad a, b, ¢, d
(2) ®ad b, c,d, e
(3) |+

(4) ®Id a, d, e
RR - &l g9
rr—W}I@J
Rr - Tl =1

fd ™ 9 b UeR & fou 9E HUF @I
TIT PN

126.

Rr x RR
. T[T 9T BT Uferd 50% B
b. T YT BT R 50%
c. IhE I &I ufderd 25% 2|
d. 9%< I &I Ufaed I %
(1) ®ad a, b
2) a, b, d

V]

(3) a,b, c
4) ®adb, d
127. BfeRE & fAU Tad Aew &1 799 &N
(1) Fhercfes
2) 76
(3) X TR BT IRIET HRT 2
(4) THSBR
128. Hgd @ foy w8 fawew &1 o99
(1) d=& fI89 RBC
(2) ghorefers
() <iffte fgwuar
@) |+

125. Select the disease that are caused by pathogen
a. Syphilis
b. Gonorrhea
c. Genital warts
d. Genital herpes
e. Trichomoniasis
(1) Onlya, b, c, d
(2) Onlyb, c,d, e
(3) All
(4) Onlya, d, e
126. RR - Red flower
rr — White flower
Rr — Pink flower
Select the correct statement for given type of cross
Rr x RR
a. The percentage of pink flower are 50%
b. The percentage of red flower are 50%
c. The percentage of white flower are 25%
d. The percentage of white flower are zero %
(1) Onlya, b
(2) a, b, d
(3) a,b, c
(4) Onlyb, d
127. Select the Incorrect option for cockroach
(1) Uricotelic
(2) Nymph
(3) Blood transport oxygen
(4) Spermatophore
128. Select the correct option for frog
(1) Enucleated RBC
(2) Uricotelic
(3) Sexual dimorphism

@) Al




129. AT IATHUAT BT TIT PN

(1) A I 3T
(2) STHAJ TR 37Fcd

(3) TAMTSCId I
(4) feriRTet

EUSUCECACAEEI|

U 31fdT 3ffddh C=C
QIR I
RIS S
ISIESIRII I
BIE URATY]

130. AT STTHUAT BT TIT BN

(1) NAD

(2) NADP

(3) WIS H
e W

(4) UISY, HaDH H
PIRTHIA BT
R EpE)

CACIBCARIINED
CACIBCARIINED
ITpref-Ih AT

AR PRISS

131. T IATHUAT BT TIT PN

(1) fha aRaed — ot R R ufdsan
(2) UGBTI — 3 f3rfoetat a= &1
AT
(3) URTEROT - W7 & gRT o @1
ESk
(4) 52% U —  T9 | UEe 3
f3reett
132. AT IATHUAT BT TIT PN
(1) wefordt - TS sifer=
2) SHIWR - & e
(3) HRHTS - & e
(4) TR - T e
133. 79 & foI W& AUl BT TFT N
(1) gPraTEeH - =P AR
2) gHEESH —  Xqd BT A
60000-80000
mm=3
(3) SHTHI - WBC & 2-3%
(4) HrrITSe - WIS

129. Select the incorrect match
(1) Saturated fatty -
acid
(2) Unsaturated fatty -
acid
(3) Guanylic acid -
(4) Glycerol -

130. Select the incorrect match
(1) NAD -

(2) NADP -

(3) Haemgroupin
peroxidase

(4) Components of cell

wall in plants, fungi

131. Select the Incorrect match

(1) Active transport -

(2) Peroxisomes —

(3) Osmosis -

(4) 52% protein -

132. Select the incorrect match

Without double bond

OneormoreC=C
double bond
Nucleoside

More carbon atom

than glycine

Organic compound
Organic compound

Inorganic compound

Polysaccharides

Energy dependent
process

Part of endomembrane
system

Movement of water by
diffusion

Membrane of
erythrocyte in Human

(1) Fishes —One Auricle

(2) Amphibians — Oneventricle
(3) Crocodile — One ventricle
(4) Mammals — Twoventricle

133. Select the correct match for human

(1) Leucocytes -

(2) Leucocytes -

(3) Basophils -

(4) Monocytes -

Nucleus absent
Average 60000-80000
mm-2 of blood

2-3% of WBC

Agranulocytes




134.

135.

136.

137.

138.

139.

AR BJ UBR & ST oA R Rerad g

& ™ IR PREFE & T A HEAeH 3 %
$ §gd Y HF BT TAIT BN

A B A

w) X)

) 7]
(1) W<X<Y<Z
2 X<Y<Z<W
B) Z<X<W<Y
@) Y<X<W<Z
o IR W HA: B &
(1) FRIfers
(2) g
(3) IRBITr®, MMRCTTH
(4) sEAIta®
= % 9 o Ag9 9 Scaelr ulrel @
fprae A wfte @

(1) <=

(2) BHST

(3) qa®

(4) |41

TAd ITTHUAT BT TIT BN

(1) Bl — 3Rery ddpTe
(2) BIERT - IR HET g
(3) HeD — gD

(4) drar — SACI® IR

TE STOUT BT TIT BN

(1) ERICH 3R B — gTAhIgCH

(2) AIET Sdh —TSIT<H

(3) I — Uit

(4) FARIBISHT — &I SRTATT UTLG T AT

U Sd & folg TTold Irgwudl BT add By

gifewer Al
(1) dvsd f3reet Suferd Sufkerd
(2) TRR ST EaNEIR EREVASA
(3) HIfTHT Al JrguRerd SuRerd
(4) divor B fafer RS CINTE IR b
forgmgTdy

134.

135.

136.

137.

138.

139.

A and B are two types of genes. They are located
upon chromosome. In the given four sample of
chromosome select the correct ascending order
of % of recombination

A B
w) X)

(Y) @

1) W<X<Y<Z

2) X<Y<Z<W

3) Z<X<W<Y

4) Y<X<W<Z

The Frogs and Humans are respectively:
(1) Uricotelic

(2) Ureotelic

(3) Uricotelic, Ammonotelic

A~ A~ S~

(4) Ammonotelic

Which is/are involved in Elimination of Excretory
wastes in Human:

(1) Skin

(2) Lungs

(3) Kidney

@) All

Select the incorrect match

(1) Catla — Bony skeleton

(2) Cobra — Fourchambered heart
(3) Frog — Cloaca

(4) Parrot — Pneumatic bone

Select the correct match

(1) Horsetail and ferns — Bryophytes

(2) Vascular tissue — Adiantum

(3) Sphagnum — Unisexual

(4) Chlorophyceae —Two unequal lateral flagella

Select the Incorrect match for five kingdom

Protista Plantae
(1) Nuclear Present Present
membrane
(2) Body Cellular Tissue/
organisation Organ
(3) Cellwall Absent Present
(4) Mode of Autotrophic  Autotrophic
Nutrition and

Heterotrophic




140.

141.

142,

143.

144,

f$9 yeR & WY # RuBiSCO T=i1s¥ CO,
Rerdiavor  wnfia &:

(1) C, 9rey

(2) C, urey

(3) Pad C, UTey

@) 13iR2TH

W Fed? ofary] R i Fewx ofraryy A
AfeRfIBRoT &1 ST R BT R:

(1) HehR

(2) HeWe

(3) SiferiToTT

@) 13iR2TH

& Y affpar § X, Y 3R z & HHI: usEE
BN

6CO,+X H,0 =225 C,H,,0,+Y H,0+Z O,
(1) 12,6,6

2) 6,6,6

3) 6,6, 12

(4) 18,6,6

PCR & fau raad faded &1 og9 &
(1) ArHTFRA

) fSpaHRo

(3) arargeTeT

(4) P TlelFRST

e BUT BT TAT BN

(A) TSI Sfig dad JI9RT, WIfewel, ®ad iR
Tl 7 SuRerd 2|

(B) U ST ddel AMRT IR i<l § IuRerd @
(C) gpRAfed oflg gifewer, «i<l, ®dd 3R
THHT § SuRerd B |

(D) HIMH 3R veAT Sig Wifewer § SuRerd = |
(1) A C,D

@ C,D

3) B,C,D

4) A, B

140.

141.

142,

143.

144,

In which type of plants RuBiSCO enzyme involved
in CO, fixation:

(1) C,plants

(2) C,plants

(3) Only C, plants

(4) Both 1and 2

What is the oxidation product in green sulphur
and purple sulphur bacteria:

(1) Sulphur

(2) Sulphate

(3) Oxygen

(4) Both 1and 2

In the given reaction identify X, Y, Z respectively:
6CO, + X H,0—" C.H,,0, + YH,0+ZO,

(1) 12,6,6

(2) 6,6,6

(3) 6,6,12

(4) 18,6,6

Select the Incorrect option for PCR:
(1) Somaclones

(2) Denaturation

(3) Annealing

(4) Taq polymerase

Select the correct statements:

(A) Parasitic organism are only present in Monera,
Protista, Fungi and Animalia

(B) Autotrophic organism are presentin only monera
and plantae

(C) Eukaryotic organism are present in Protista,
Plantae, Fungi and Animalia

(D) Flagellated and ciliated organism present in
Protista

(1) A C,D
2) C,D
3) B,C,D
(4) A B




145. b I ‘AL BT T Hdodd Bl T | 145. What is meaning of Greek word ‘meristos’

(1) fades (1) Differentiation
(2) fawfora (2) Divided
4) T (4) Motility
146. W& ITOUA BT TGT I 146. Select the correct match:
(A) 39 ®T ge&T - TP W SITET TN WX (A) Mango tree - Placed at more
W I & than one trophiclevel
(B) 99 - TP W SITET TN WX (B) Human - Placed at more
WR W ST & than one trophic level
(C) el - DI IR TV W) (C) Fish - Placed at only
R Sd & third trophic level
(D) TRAT - Pad fgdlg U9 W) (D) Sparrow - Placed at only
R ST & second trophic level
(1) B,C,D (2) ddel C,D (1) BCD (2) OnlyC,D
(3) AB,C (4) ®ad B (3) AB,C (4) Only B

147. TR N RE @& U 98 fdwey &1 TgT B | 147. Select the correct option for given diagram:

RUET /G —> g ——> I Green plants/Seeds — goat —- L(ng)n

Energy 50000 ~__ (A)
o1t 50000 (A) (B)
= \) Jule "3 Grasshopper —» Frog — Snake

TR ——> Hed —> WY

(©) (D) (E) ©) (D) B
A,B,C,D,E - Energy

AB,C,D,E - &
() A-5000 Jule, C-5000 Jule
() A-5000 ST, C- 5000 S[et

() A-5000 ST, B - 500 S, D - 500 Set
(I C - 500 S, D - 50 5[, E - 5 S[al

(IV) B - 500 e, E - 50 S[ef

(I A-5000 Jule, B - 500 Jule, D - 500 Jule
(Im C-500 Jule, D - 50 Jule, E - 5 Jule
(IV)B - 500 Jule, E - 50 Jule

(1) 1,11, IV 2) Bad |, Il (1) L, v (2) Only 1, I
Q) LI,V @) DI | Q) L1,V (&) Only|
148. foiTer= vl st @ Iy =R 8k #reT @Y | 148. For sexlinked recessive disease what will be the
T F9AR™ 8 possibility of male and female:
(A) TR TR 1G] GrHE 8 Ghdl & (A) Male may be diseased or normal
(B) R 8% B FAHdT & (B) Male may be carrier
(C) HIaT dT8dh 3fqdl AHR 8 9hdl & (C) Female may be carrier or normal
(D) 91T §9R 8 Al & (D) Female may be diseased
(1) ACD 2) PBIATA,C (1) ACD (2) OnlyA,C

(3) (4) HITAD (3) All (4) OnlyAD




149. 0 fay T & HoH ¥ :

DY -1:

o Ry fAwent # 4 9 Sox T
(1) TFT $UF 1 3IR HAF |1 7TeAd 2 |
(2) BUF | e TR B I TeAd B |
(3) PUF 17T & W B || H2l B |
(4) BT AT |3 B 11 GE B |

150. fA=faRaa ¥ 9§ o9 91 $94 e & S
R faog @ fovg & 98 2

(1) B T 50,000 a8T Ugel M

2) safudea IR IAded ugheyd 15 fHeiad
Y Ugel RA H o, IMeH! B TRE Ford U

3) B ¥l ur: Hie @ o

(4) Fu=eRerer ameHl gRRrr # 1,00,000 3R 40,000
a9 Ugel Y81 PR o |

SEET B MIARIE Wrgar ¥ g9 @ @l
vgfed feae gR1 47 8 gadl B |

(1) STARTIT BT 3Td

151.

(2) Uregfsed HHNT BT 3T
(3) ArBD HAT

(4) RATTRYT BT AT

TE STOUT BT TIT BN

A. JHIIRER AT UoiHe H 9 B gvTad
HRAT &, QAT UTgY 3R ST

(B) ®I$ Y forsfta axg SuTag & uehRfq o= 2|

(C) TIdl UTEYl, ST3ll 3R Hdd IUTIA Bl Ui
PR 8

(D) BIRTDHI RTHT & T (DI & MMIAH faFai
# SuRerd 9l 81 ®

(1) T

) A B,D

(3) ®ad A, B

@) A, B, C

152.

149. Given below are two statements
Statement |I:

— Marine Animal and

coelomate animal

Statement Il :

- S o ) . .
%\\ — True fish and Triploblastic
animal

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

150. Which of the following statements is correct about
the origin and evolution of men?

(1) Agriculture came around 50,000 years back.

(2) The Dryopithecus and Ramapithecus primates
existing 15 million years ago, walked like men.

(3) Homo habilis probably ate meat.

(4) Neanderthal men lived in Asia between 1,00,000
and 40,000 years back.

151. The tendency of population to remain in genetic

equilibrium may be disturbed by:
(1) lack of mutations
(2) lack of random mating
(3) random mating
(4) lack of migration.
152. Select the correct statements

A. Photoperiod affects reproduction in seasonal
breeders, both plants and animals

B. No non living object exhibit metabolism
Only plants, animals and fungi exhibit metabolism

D. Properties of cellular organelles are not present in
the molecular constituents of organelles

1) All
A, B, D

XN =
N N

OnlyA, B
A B, C

=
=




153.

154,

155.

156.

157.

Yo HHG gIF YIS DNA e & §RT

T AT @

(1) g=gfer

(2) TSI

(3) TsNIfoRAA

(4) TR

PCR ¥ STIIT 8 dlcl DNA UfeifiRSl & oy

¥ S b G HAT B |

(1) UTE HIRTHERN H ufdse DNA &I A8 BT &
fore I8 ST BT ®

(2) IE TP ROATY fgd B aRE BT HRal &

(3) I U faury & faatfia fam = 8

(4) I8 Iea ATIHI R |AfhA F91 I8l 8

Iafie i@ ¥ e ®Rex DNA @vs

(N=), e @ AgH 9 WA BIfl¥er A

RWAFIRT fPar SIar & IR goied (i-iv) @l

foaR + 9 G A R 9 faweuy &1

99 N 39 oy ¥ f5 o e e b 9@

AF TH q IEH/IEDI $ WY H SWHATA

BT B

3) (i) 3T (iii)
(4) (ii) 3R (iv)

WWHHEIRTT <gAeRig=a &1 “Ti wreHrs”
foae forg mr 2

1) TYFR AJqH<D CoHIS

(
(2) TR WIA WoHIE
(3) TIR URT wiorre

(4) T Wa oS

MR 9 4, 9aifs 9= feaar 2
1) g

2) Mg

3) WU

4) ®TE SIEIIfRITES

(
(
(
(

153.

154,

155.

156.

157.

The first human hormone produced by
recombinant DNA technology is:

(1) insulin

(2) estrogen

(3) thyroxin

(4) progesterone

Which one is a true statement regarding DNA

polymerase used in PCR?

(1) ltis usedto ligate introduced DNA in recipient cells.
(2) It serves as a selectable marker.

(3) ltisisolated from a virus

(4) Itremains active at high temperature.

In genetic engineering, a DNA segment (gene) of
interest, is transferred to the host cell through a
vector. Consider the following four agents (i-iv)
in this regard and select the correct option about
which one or more of these can be used as a
vector/vectors.

i) Ascaris

i) Plasmid

iii) Plasmodium

iv) Bacteriophage

1) (i), (i) and (iv)

(
(
(
(
(1)
)
(3)
(

(
2) (i) only
3) (i) and (iii)
4) (ii)and (iv)

The “Ti plasmid” of Agrobacterium tumefaciens
stands for:

(1) tumor inhibiting plasmid

(2) tumorindependent plasmid

(3) tumorinducing plasmid

(4) temperature independent plasmid.

In gobar gas, the maximum amount is that of :
(1) butane

(2) methane

(3) propane

(4) carbon dioxide




158.

159.

160.

161.

TE FAT BT TIT BN

(1) IrdfcgRed M & ®Y § ITART TE B @

(2) FTHi= U cafdadl o fear STrar 8, Rraay srea
forar g8 7, ¢ FaRa & e

(3) THH, TEM W G0 Q19 3R eI &% "edl ©

(4) PIHT AAS Pl TAGPAT & a8 &A1 S 2 |
T I8 WReT o BT ST BReT §

AIDS & T # ffafag § 9 &9 a1 e
TR ?

(1) HIV & Hhfaa aafdd @& drer ¥ioe &R &
qreIq W WIFRd 8l Ghdl &

@) S%Ta??ﬁ HIV FehHoT & fory fmaw Hagaeie

(3) AIDS WIS HT FATH SE&HTA 3R UITT & HTLf
qUiey ¥ I yfaerd SUER fHar ST §

(@) HIVXZIfANTY] $R%b Ae™d T-fompraged 4

U9 HRAT & 39 AN SHP! T "erdl §

frefafag 4 9 &9 @ dedile d~aR 9
UEAM &9 @& fog 9w g @

(1) I IgaTe AT (MRI)

(2) YSRITHY (X-faH=om)

(3) uRafera MUY (CT)

@) RRemeTsiiee T
3 ey T < = E
DY -1:

e 1
T iy el § ¥ w98 S g+
(1) SFTF B | 3R B 11 T B |

2) U | T TR HAA I Tl 7 |
(3) T |7TeId § TRg H I FEl 7 |
(4) <l BAF | 3R BT 11 FE B |

158.

159.

160.

161.

Select the correct statement
(1) Barbiturates are not used as a medicine

(2) Morphine is often given to persons, who have
undergone surgery, as a pain killer.

(3) Chewing tobacco lowers blood pressure and heart
rate.

(4) Cocaine is given to patients after surgery as it
stimulates recovery.

Which one of the following statements is correct
with respect to AIDS?

(1) The HIV can be transmitted through eating food
together with an infected person.

(2) Drugaddicts are least susceptible to HIV infection.

(3) AIDS patients are being fully cured cent percent
with proper care and nutrition.

(4) The causative HIV retrovirus enters helper T-
lymphocytes thus reducing their numbers.

Which one of the following techniques is safest
for the detection of cancers?

(1) Magnetic resonance imaging (MRI)
(2) Radiography (X-ray)
(3) Computed tomography (CT)
(4) Histopathological studies
Given below are two statements
Statement I:

§gfe. —\Vascular plant and sporophyte are

dominating stage
Statement Il :

— Vascular plant and gametophyte are

H

dominating stage
Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct
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BT -1 :
HOCH, ©O.
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— ATARI® yarf &I I
OH OH
HUT -l :

— DI fB¥reei] BT 3faud

o Ry fAwent # 4 9 Sox T
(1) TFT $UF 1 3IR HAF |1 7TeAd 2 |
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(1) wHIex

) s gdE

(3) 3rgH<H UIIH

(4) IR

164.

162. Given below are two statements
Statement |I:

HOCH, ©O.

OH
— Component of genetic material

OH OH

Statement Il :

— Component of cell membrane

HO

Choose the correct answer from the option given
below:

(1) Both Statement| and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
163. Which one of the following options gives one
correct example each of convergent evolution

and divergent evolution?

Convergent Divergent

evolution evolution

(1) Eye of octopus Bones of forelimbs

and mammals of vertebrates

(2) Thorns of Bougainvillea Wings of butterflies

and tendrils of and bird
Cucurbita

(3) Bones of forelimbs Wings of butterfly
of vertebrates and birds

(4) Thorns of Bougainvillea Eyes of octopus

and tendrils of and mammals

Cucurbita

164. Name the component that binds to the operator

region of an operon and prevents RNA
polymerase from transcribing the operon.

(1) Promotor
(2) Regulator protein
(3) Repressor protein

(4) Inducer
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166.

167.

168.

169.

T BT R USH 50 AT aFall & UleU<ess
$ B aﬂﬁaﬁwsﬁ—rrﬁ, 25th SIS
(UAU) ScaRafda gek UAA 81 ST 2

(1) m4mmwmﬁﬁmmﬁn‘m

(2) 24 3R 25 I Al & TI UGIUCIZS BT
fawfor g

(3) TP 49 I el & Uieliuergs &I AT 8T

(4) TP 25 AT AT B UlelUCISS BT AT BT

frafafed & @ &9 |1 ®oF g0 g A

gligGfiad & gfhar & a<d § 98 B

(1) DNATR ¥R DNA UTeT et Uab oI # agelanianor
DI IIRT FRAT 8 o fh 37 5 5

(2) DNATR ¥R RNA UTeT et Uah oIl 3 agelanianor
DI IIRT FRAT 8 o fh 5" 3

(3) DNA TR ¥R DNA UTciYST IgelahidhRul Pl ISR
RATETNBF 53 AT AT 558

(4) DNA™ R DNA Uil RSt dgataiael df 5 — 3
oI foom # SART wxaT &

U% A9 R H AB, Ab, aB 3iR ab SiFIlegy &

|y YEpTRl &1 i R §1 & 5w

aqurd # < favelicles @eon § wwafug g

39 Afdd &1 G SIHICRY |®&T g

(1) AaBB

(2) AABb

(3) AABB

(4) AaBb

T & 100 JTHTS/100 I=F &I 91 & folg qat

e favrom @ Hewr savgs Bl

(1) 100

) 75

3) 125

(4) 50

U6 HIA6 PG N e Silk¥er a5 &

S YR & gy U fear 3 s Wi @

IJHEG P ol H $HD U '

(1) IORIAT DI &1 AT =T 3R DNA &1 A3 IR
TAT &

(2) TORIET DI TR A G&AT AR DNA BT |13 &
TAT &

(3) TORGAT BT & AT AT 3R DNA BT AT &T T[T
g

(4) TR BT FA HET 3R DNA BI F13T &1 I[A1
g

165.

166.

167.

168.

169.

What would happen if in a gene encoding a
polypeptide of 50 amino acids, 25th codon (UAU)
is mutated to UAA?

(1) A polypeptide of 24 amino acids will be formed.

(2) Two polypeptides of 24 and 25 amino acids will be
formed.

(3) A polypeptide of 49 amino acids will be formed.
(4) A polypeptide of 25 amino acids will be formed.

Which of the following statement is correct
regarding the process of replication in E. coli?

(1) The DNA dependent DNA polymerase catalyses
polymerisation in one direction thatis 3’ —» 5

(2) The DNA dependent RNA polymerase catalyses
polymerisation in one direction thatis 5’ — 3’

(3) The DNA dependent DNA polymerase catalyses
polymerisationin 5 — 3 aswellas 3’ > 5

(4) The DNA dependent DNA polymerase catalyses
polymerisation in 5 — 3’ direction.

A human male produces sperms with the
genotypes AB, Ab, aB and ab pertaining to two
diallelic characters in equal proportions. What is
the corresponding genotype of this person?

(1) AaBB
(2) AABb
(3) AABB
(4) AaBb

Total number of meiotic divisions required for
forming 100 zygotes/100 grains of wheat is

(1) 100
@) 75
(3) 125
(4) 50

A somatic cell that has just completed the S phase
of its cell cycle, as compared to gamete of the
same species, has

(1) twice the number of chromosomes and four times
the amount of DNA

(2) fourtimes the number of chromosomes and twice
the amount of DNA

(3) twice the number of chromosomes and twice the
amount of DNA

(4) same number of chromosomes but twice the
amount DNA.
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170. A state in cell division is shown in the figure.

171.

172.

Select the answer which gives correct

indentification of the stage with its characteristics.

(1) Cytokinesis Cell plate formed,

mitochondria distributed

between two daughter cells.

(2) Telophase Endoplasmic reticulum and

nucleolus not reformed yet.

(3) Telophase Nuclear envelope reforms,

Golgi complex reforms.

(4) Late anaphase Chromosomes move away

from equatorial plate, Golgi
complex not present.

Which kind of therapy was given in 1990 to a four
year-old girl with adenosine deaminase (ADA)
deficiency?

(1) Gene therapy

(2) Chemotherapy
(3) Immunotherapy
(4) Radiationtherapy

The Nile perch introduced into lake victoria in east
Africa led eventually to the extinction of an
ecologically unique assemblage of more than 200
species of cichlid fish in the lake.

The above given sentence explains :

(1) Co-extinctions

(2) Alien species invasions
(3) Over exploitations

(

4) Narrowly utilitarian biodiversity
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174,

175.

176.

Select the correct statements for mendel dihybrid
cross:

a. Nine types of genotypes are formed.

b. Phenotypicratiois9:3:3:1

c. Seed shape and seed colour was used

d. Green wrinkled is minimum in number.

Only a, b, c

Only b, c, d

All

Only a, c, d

Which one of the following is commonly used in
transfer of foreign DNA into crop plants?

(1) Meloidogyne incognitia

(2) Agrobacterium tumifaciens

(3) Penicillium expansum

(4) Trichoderma harzianum

Select the incorrect match

(1) Brassicaceae — Dicotyledonae

(2) Malvaceae — Monocotyledonae

(3) Poaceae — Monocotyledonae

(4) Compositae — Dicotyledonae

Given below are two statements
Statement |I:

= —»Their hormones are only steroidal.

V.

Statement Il :

///5%’ — Present at the anterior part of only right

kidney.

Choose the correct answer from the option given

below:
(1) Both Statement| and Statement Il are incorrect

(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(

4) Both Statement | and Statement Il are correct
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178.

179.

180.

TE PUT BT TIT DY

(1) U SIRIIeet SHTS RNA BT IHH BIaT &

(2) U® 3T SHIE DNA BT shH BIaT 2

() Ud HITH HRE SAIF & FH09H & fov
AMITH 2
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(1) THIgIIRE
(2) MRS
(3) TR
(4) ATSATRIRE
HE ATHUAT BT g BN
A I Bl | el
B. YgaaR Bal Il =T
C. 3N el . Treas
D. IMYGHOIT Bl IV. Ba
(1) A-ll, B-l, C-IV, D-|
2) A-IV,B-lll, C-Il, D-I
3) A-ll, B-I, C-IV, D-lll
4) A-l,B-Il, C-lll, D-IV
R LI 2 L T s 1 s 5 SO
gl -1 -
A. BIEORITHE | A seUl
B. erfifuirs Il. SlghIprser
C. =gHIfm=T Nl FERRIAT IpTT
D. T« IV. GreamIar faReiferfedt

(1) A-ll,B-llI, C-1,D-IV
(2) A-IV,B-l, C-lll, D-l
(3) A-lll, B-1V, C-I, D-l
4) Al B-Il, C-IV, D-llI

177.

178.

179.

180.

Select the correct statements
(1) Atranslational unitis the sequence of RNA
(2) Atranscription unit is the sequence of DNA

(3) A release factor is required for termination of

translation
@) Al

In plants facilitates the transport of a

number of ions and other materials against
concentration gradients into the vacuole, hence
their concentration is significantly higher in the
vacuole than in the cytoplasm

Fill in the blank in given sentence
(1) Amyloplast

(2) Tonoplast

(3) Aleuroplast

(4) Elaioplast

Select the correct match
A. Dryfruit [.  Groundnut
B. Fleshy fruit lIl. Orange
C. False fruit lIl. Strawberry
D. Parthenocarpic fruit  IV. Banana
(1) A-ll, B-l, C-IV, Dl
@) A-Iv,B-lll, C-ll, D-I
(3) A-ll,B-l, C-IV, D-llI
@) A-l,B-ll, C-lll, D-IV
Match list | with list Il
List - | List -1l
A. Filariasis I.  Haemophilus
influenzae
B. Amoebiasis IIl.  Trichophyton
C. Pneumonia lll. Wuchereria bancrofti
D. Ringworm IV. Entamoeba histolytica
(1) A-ll,B-lll, C-I, D-IV
(2) A-IV,B-l, C-lil, D-lI
(3) A-lll, B-1V, C-l, D-lI
(

4) A-l,B-ll, C-IV,D-lll
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[NCERT-XII-II-303] | 4

2 2 2 2
\/v1 +Vy V3 +o Ve

Vims =

n

2 2 2 2 5
:J1 +2 +35+4 +5 _ i km/s

n

VAV, VitV
n

avg

=M=3km/s

ms __

=\/ﬁ:3

<
e
—_—

avg

[NCERT-XI-I-283] | 5 (4
IJEl, m = 1000 kg, a = 1.2 ms2
IR H T, T=m(g+a)
=1000(9.8 +1.2) =11000N

Force
Area

A ufded =

__ T _4AT
nD?/4 nD?

4x11000x7

1.4x10° = .
22xD

D2=2X1000X7=10’4m2
1.4x10°

D=102m=1cm

[NCERT-XIIH-28] | 3. (3)

f&ar 2, f =520 Hz,

SRGICECISIES l, =30cm=0.3m
l,=70cm=0.7m

IR | S Bl =T,

v=2f(, -1)

=2x520x(0.7-0.3)
=416m/s

[NCERT-XII-I-303]

v :\/vf+v§+v§+ ..... +V
™ms n
2 2 2 2 5
:\/1 +20487 44745
5
Vy FV, Vg 4V,
avg — n
=1+2+3+4+5=3km/s
5
Ve N _ 75
v 3

avg

[NCERT-XII-I1-283]
Here, m = 1000 kg, a = 1.2 ms—2

Tension in the rope, T=m(g+a)

=1000(9.8 +1.2) =11000N

Force
Breaki =
reaking stress Area

__ T _AT
~ nD?/4 nD?
1_4><108=4X110002X7
22xD
D2 =2X1000X7=104m2

1.4x10°
D=102m=1cm
[NCERT-XII-I-28]
Given, f = 520 Hz,
Resonance lengths, [, =30cm =0.3m

[,=70cm=0.7m
The speed of sound in air,
v=2f(, -1,)
=2x520x%(0.7-0.3)
=416m/s
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[NCERT-XI-I-135,136]
S &fd, Am=2(m, +m,)—my,
@ferad Tf® # <1 MigH & =g B §)
Am =2(1.0087 +1.0073)-4.0015

Am =4.032-4.0015 = 0.0305amu
T Sofl, E, = Amx 931 MeV
=0.0305x 931=28.4 MeV
[PYQ Modified]
fhar 1 o dRI%eT — 2,
W, =d% BT &FHe 12
:(3\/0 _Vo)(po)ZZpoVo
far 2 # srRiwed - 3,
W, =dsh BT &3hd 2 5 3
I Rer 2
W, =0
forar 2 § dRIwEH > 1,
W, =a5h BT &hd 3 5 1

1
= —{2pOV0 + E(Zp0 -p,)(3Y, -V, )}

=-2p,Vy —PoVo =-3p,Vp
DI U H [ &FhA 152 >3 1,
W=W, +W, +W,

=2p,Vo +0+(=3p,Vy ) =—Po Vo

=-np,V, (&1 B)
n="1
[NCERT-XII-1-84]
[NCERT-XI-11-233]
t=rxF
tlr 3R tLF

1r=0 3R t.F=0

[PYQ 2024]
[NCERT-XI-1-39]
HTIBA = Aol SHoll

qV=1mV2:>v=‘/£
2 m

o-hUT gRT AJHT HAT AT I

F =BqV =Bq‘fﬂ
m

Fzﬁz%:,/%:ﬁ F, =3F

4. (1)

5 (1)

[NCERT-XI-I-135,136]

Mass defect, Am=2(m, +m_)-m,,

(as helium nucleus has two protons and two
neutrons)

Am=2(1.0087 +1.0073)-4.0015
Am=4.032-4.0015=0.0305amu

binding energy, E, = Amx931MeV

=0.0305%x931=28.4 MeV
[PYQ Modified]
Work done in process 1— 2,
W, =Area under curve 1 2
=(3V, = Vo )(po) = 2p,V,
Work done in process 2 — 3,

W, =Area under curve 2 — 3
Volume is constant

W, =0

Work done in process 3 — 1,
W, =Area under curve 3 — 1

1
= _|:2povo + E(zpo —Po )(3\/0 - Vo )j|

=-2p,Vo —PoVo =-3p, Vo
Now, the total work done in cyclic process
152531,
W=W, +W, +W,
=2p,Vy +0+(=3p,Vy ) = —Ppo Vo
=-np,V, (Given)
n=1

6. 4 [NCERT-XII-I-84]
4 [NCERT-XI-II-233]
t=rxF
tlrandtlF
Hence, t.r=0 and 1.F=0
8. 4 [PYQ 2024]
9. 1) [NCERT-XI-I-39]
Work done = Kinetic energy
qV = %mv2 ENE %
Force experienced by a-particle
F=BqV =Bq 29V
m

F:\/V:FFZ:,/%:\E F, =\3F
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[NCERT-XII-1-29]
g9 994 & b 9o

1 9,9,

F =
4ng, r?

Y A, F=mre® =

4nmr(

THIBROT (i) 31 (ii), BF YT B © |

(4ne,)r? (4n’mr)

4,9,

2 3 1/2
T={4n mr }
[NEET PYQ]

ka,q,
ged] 1 FAE H h $HaTs IR SYUE DI T B B
for aragsd FHol

GMm [ GMmJ
“(R+h) R

T2 =

_ GMmh
" R(R+h)

379, SYUE DI sl SHoll

KE:%mvg

1 GM

2 (R+h)
31: Jpyoflel Pl 7T

GMmh
U __RR+h) 5
KE 1_~GM =
2 (R+h)
U _2n
KE R
[NCERT-XI-I-131,134]
amesf 9 g 9
pV =nRT
nRT nRT2
V . V = L = -1
0 = a (- p=aT™)
av=2RTyr (i)

31q, ﬁﬂmﬁv—mwmﬁmw%
dW =pdV

a 2nRT

W = j dT = [2nRT]¥

W =6nRT

10.

1.

12.

@)

)

4)

[NCERT-XII-I-29]
As we know, force

1 99
Fo_ .
471:80 r2 ........ (|)
2
Also, F =mrao? = 4“T£“r [ ®= Z—T"J ........ (ii)
By Egs. (i) and (ii), we get
T2 _ (4ne,)r® (4n*mr)
4192
2 3 1/2
So, T = {411 mr }
kq,q,
[NEET PYQ]

Energy required to move the satellite to the height

of h from earth's surface is given by

U= GMm ([ GMm
(R + h) R

_ GMmh
R(R +h)
Now, the kinetic energy of the satellite is

KE = %mvg

1 GM

2 (R+h)
So, the ratio of energy required to the kinetic energy
is given by

GMmh
U R(R +h)

- = 2h
KE 1_ GM =—

m
2 (R+h)

[NCERT-XI-I-131,134]
From the ideal gas equation

pV =nRT
nRT nRT?2
V= V= o peaT
0 = a (- p=aT’)
dv = 2”:T aT (i)

Now, the work done by the gas is given by
dW =pdV

a 2nRT

W= I dT - [2nRT]¢"

W =6nRT
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[Past PYQ Based]
I8, L=25mH=25x10°H
f=50Hz,V_ =220V
IRT IR,

X, =2nfl

=2X§x50xz5x1049

gRuel § rms gRT
I — V”TIS
ms X|_

220

2x272x50x25x10*3

_ 7x1000

=—— """ A=28A.
2x5x25

[NCERT-XI-11-208]
u=tano,
gl 0,=0, =tan"1.73

= tan"'\/3 =60°.
[NCERT-XII-I-206]

&ifcrsr famm 5 R 4s,
s, =1.5x4=6m

favere = s? + 82
=8°+6°=10m
[NCERT-XII-I-77]
TSI A Tl Fef A H G v, =+2v,
BET T H ol

KE,

1mvé:E
2
JoTad 97 & ford Sl

= vz =
2

SIS ol

KE

%m(ﬁve)z =2E

=KE, -KE, =2E-E=E

13. [Past PYQ Based]

2
Here,L=25mH=25x10°H
f=560Hz,V__=220V
The inductive reactance,

X, =2nfl

=2x§x5oxz5x1049

The rms current in the circuit,

) 220
2x272x5ox25x10*3

_ 7x1000

=—— """ A=28A.
2x5%x25

14. (3)

As, p=tang,

[NCERT-XI-I-208]

Here, 6, =6, =tan™1.73

= tan"'/3 =60°.

15. (4) [NCERT-XII-1-206]

_F_10_
m 10
Distance in vertical direction in 4s,

s, =1a, t2 =1><1><16=8m
2 2
Distance in horizontal direction in 4s,

s, =1.5x4=6m

Displacement = ,/s? +sZ
=82 +62=10m

[NCERT-XII-I-77]
The escape velocity and orbital velocity are related
as v, =+2v,
Energy in a orbital velocity,

1ms

16. (3)

KE, =%mv§ =E

Energy for escape velocity,

KE

1mvj %m(\/ive Y =2E

¢ 2
Thus, energy required

=KE, -KE, =2E-E=E
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[NCERT-XI--83]

N2 1
o 44 2’

h _16_1
0 32 2
ST8l, n ="l &1 =,
f = =g dIfe
T = yRf®¥& am

T

co,

f.. =7T  =300K

co, ' 'co,

f,, =5, T, =310K

O,

and

fT

n. f
202 02

_ CO, CO,
Tmin - n f
CO, CO,

+n0

+n,, fo2

1><7><300 + 1><5><3’IO
2 2

7x1 + 5x1

2 2
2100 1550
74_7

2 2 o
-—2-— 304.16K or 31.16°C
2

[NCERT-XII-11-266,267]

a
w _ Mg

My _3/2_9
Mo =2 "4/3 " 8

i =30°
sini_ . _9
sinr “Ha T 8

N| =
O

sinr =§sini =§sin30° =§><
9 9

. 1[4}
r=sin™| —
9
[NCERT-XII-1-100,101]
URMAS TS Holl 0-B0T Bl = o-HIT BT Rerfas
Soll

1 (2e)(Ze)

4ne,

(2e)V =

d= ! é=(9><109)E(’I.6><’IO’19)=’I4.4E,&
4ne, V \Y \Y

17. (1) [NCERT-XI-1-83]

22 1

ncoz_ﬂza’ c02=7 T

' 'co,

=300K

. _16_1
% 32 2

where, n = number of moles,

f = degree of freedom
T = initial temperature

T — nCOQ fC02 TCOQ + n02 f02 T02

min
nC02 fCOQ + n02 f02

f,, =5T, =310K

O,

and

1><7><300 + 1><5><3’IO
2 2
7x1 + 5x1
2 2

2100 1550
7_‘_7

__2 2 _ o
-4 304.16K or 31.16°C
2

[NCERT-XII-11-266,267]

8 8 8 1
i = — i -=— i 3002— =
— sinr 9sml 9sm 5 X

2
—, r=sin’ (iJ
9

M

For closest approach,

[N

19. [NCERT-XII-1-100,101]

Initial kinetic energy of a-particle = Potential energy
of a-particle at closest approach

(2e)(Ze)

(2e)V =

4ne,

d= ! é=(9><’109)5(1.6><’IO’19)=14.45,&
4ne, V \Y \Y




20.

21,

22,

23.

24,

2

@)

M

@

@)

[NCERT-XI-I-106]

X =6 +12t — 2t>

X _ 1o 4t

dt

g T RIS & Tf BN $b Sfrdl 8, v=0
12-4t=0

t=3s

Reffd ™R t=0s,

X =6+12(0)-2(0)*
X=6m

Rerfy Rt = 3s,

X =6+12(3)-2(3)* =24m
Rerfer v t = 5s,

X, =6+12(5)—2(5)? =16m

0s ¥ 3s & dIF §X, Ax=|24-6|=16m
3s W55 9 W,
AX'=|16-24|=8m

5s # Fol =ell T

=18+8=26m
[NCERT-XII--110]

Amplitude of electric field
Amplitude of magnetic field

Speed of light =

3x10°® =i
B

0

9

B,=—x10"T
3

0
B, =3x10°T

[NCERT-XII-1-147]
far 8, x =t +1

:>d—X=2t+2

_ 2
x=(t+1) at

v=2t+2

voct
[NCERT-XI-11-285]
X NAND 7€ 2 3R Y OR 7€ &
[NCERT-XI-II-215]

20.

21,

22,

23.

24,

@

@)

M

@

@)

[NCERT-XI-I-106]
X =6+12t—2t>

d—X=12—4t
dt

When particle stops travelling in forward direction,
v=0

12-4t=0

t=3s

Position at t=0s,

X =6+12(0)-2(0)?

X=6m

Position at t = 3s,
X=6+12(3)-2(3)* =24m
Position at t = 5s,

X, =6 +12(5)-2(5)> =16m
Distance from Os to 3s, Ax=|24-6|=16m
Distance from 3s to 5s,

AX' =[16-24|=8m

Total distance travelled in 5s

=18+8=26m
[NCERT-XII--110]

Amplitude of electric field
Amplitude of magnetic field

Speed of light =

3x10°® =i
B

0

B, = % x10°T
B, =3x10"°T

[NCERT-XII--147]
Given, \& =t+1

dx

x = (t+1) :>E=2t+2

v=2t+2

Vot
[NCERT-XI-11-285]
Xis NAND gate and Y is OR gate.
[NCERT-XI-II-215]




26.

27.

28.

[NCERT-XI-I-296]

_ IMUT 2K <[K]
(L]
= [MLT?]

-
B

= 8= m
p

4)

@

4)

- MLTT ey
[ML'T2]
[NCERT-XI-I-76]

HUS! BT WURT = un’Al

n =l B I&AT Ul SHIs o Ts |

TIURTT o n?

UREd 4 AT TAT N, 2 AT B STRAT |
[NCERT-XI-1I-262]

iR 3Mferhad BN 19 ol &8 & 8T,
=R+R+R.... upto n

series

R_..=nR
GfORTET <IATH BT 519 FHIAR A § 81T,
1 1 1
=—+—+..upton
Rparallel R R
Rparallel =
Rseries _ nR _n_2
R R/n 1

parallel

[NCERT-XII-I-278,279]
ATeTd B, ATTh AT SFHH IR ggrel § wHH 2 |
31T YIRS HHCT BN, Al $9& I U N A
gSel SIRRT |
AT FRETT iR e =19, 8IR UNT &

_ Speed of separation v, —v,
Speed of approach u,

=1

V, -V, =U,

mu, =mv, +mv,
V2+V1 =U1
THHRT (i) 3R (ii) DT GAT B TR &9 U &
v, =0 3R vV, =u,

AleTd A faRM™ # 3 SITar & JATB ITAD I A
T BT

25. ()
-
26. (4)
27. (2)
f—
28. (4)
f—

[NCERT-XI-I-296]

_ IMUT K< [K]
(L]
= [MLT?]

(04

Also, P=7%
SO B

an

MLT 2
= = MU
[NCERT-XI-I-76]

Self-inductance of solenoid = un®Al
n = number of turns per unit length

Self-induction oc n?
So, inductance becomes 4 times when n is
doubled.

[NCERT-XI-lI-262]
Resistance will be maximum when connected in
series,
=R+R+R..... upto n
series = nR

Resistance will be minimum when connected in
parallel,

series

1 1 1
=—+—+...upton
Rparallel R R
R
Rparallel = F
Rseries _ nR _ n_2
R.,.a R/n 1

parallel

[NCERT-XII-I1-278,279]

As bob B is of same material and same mass as
that of bob A, therefore on elastic collision, their
velocities are exchanged.

By momentum conservation and e =1, we have

_ Speed of separation v, —v,

= = 1
Speed of approach u,

Vo=V =4

mu, =mv, + mv,
V, +V, =U,
Using egs. (i) and (ii), we get
v, =0 and v, =u,

Bob A comes to rest and B moves with the velocity
of A.




29. (4) [NCERT-XII-I-39,40] | 29. (4) [NCERT-XII-I-39,40]
. di , di
i=t?e’ 3R |el=L— As, i=t%¢" and |e|=L—
i=te le] pr i=te le] pr
di , di
ﬁgamaaafagﬁmmaw So, emf will be zero when a=0
di , : di , ,
— =2te"' -t =0 —=2te’' -t =0
3d, p Now, p
= 2te’ -t =0 = 2te’' -t =0
= te'(t-2)=0 = te'(t-2)=0
t#o0 3R t=0 As, t#o and t=0
t=2s S t=2s
30. (4 [NCERT-XI-1I-218] | 30. (4) [NCERT-XI-11-218]
80 & U fawa udH As voltage drop across 8Q
V? V?
=/2x8 =4V -.-P=F =/2x8 =4V -.-P=?
30 & A fawa ud= Therefore, voltage drop across 3Q
= i.4=3v = i.4=3v
1+3 1+3
: @3y i : @3y
37d: ITfda &9 3Q = 3 " 3W. Hence, power dissipated in 3Q = Euh 3W.
31. (1) [NCERT-XII--172] | 31. (1) [NCERT-XII--172]
HESISE] URHTY] P nth HeT & ol oF T & The energy of an electron in nth orbit of the hydrogen
atom is given by
-13.6
E = eV _
" n’ E, = 1?;'6ev
o Gf n
Rl & fordl,n =2 For the first excited state, n = 2
-13.6 _
E2 = 22 eV E2 _ 12:26 eV
ST I favert & fora, n =3 For the second excited stute, n = 3
-13.6 -13.6
E, = 7 eV E;, = 7 eV
E,_¥_9 E,_%_9
E, 2° 4 E, 2° 4
32. (1) [NCERT-XI-II-192] | 32. (1) [NCERT-XI-II-192]
33. (3 [PYQ Modified] | 33. (3) [PYQ Modified]
80 STl §RT STAIT AT 91 = pQv Force exerted by flowing water = pQv
S Afad =F.v = pQv? Power generated =F.v = pQv?
ifhd &9 oTHd © b, Q=F.v, S8 AUTSY &I But we know that, Q =F.v, where Ais area of pipe
&ABe ©
Q® Power =~ & Power o Q®
oIfe = pAz T o Q° A?
P_1_(nQ)3_i P_1:(nQ)3:i
P,  (Q)P 1 P, (Q° 1

NLI/9



34,

35.

36.

37.

(1) [NCERT-XII-I-95]
Veor =Vp—v; =10-9=1m/s
37 feram Tam Y,

_100 _100

 Ver 1
t=100s.

(2) [NCERT-XII-I-158]
37d: ST T 45°hI0T 10 & T HEIER Sl =
U

t

tan45° =E =1
X

x=H=19.6

- . 2H _ /2x19.6
: g 9.8

t=2s

X
u=-=—
t

- u=@=9.8 ms™’

4) [NCERT-XII-11-299]
y, = asin(2xft)
Yy, = asin[Znﬂ + EJ
2
Yy=Yi+Y,

=2a sin[ant + EjcosE
4 4

- Esin[2m‘t+ Ej
4

2

—2 asin(znft + Ej
4

a1 o =~2a, amgfy = f
@) [NCERT-XI-I-39,40]

F-mgsin6=ma
= F-10x10xsin30° =10x2
= F-50=20 = F=70N

34,

35.

36.

37.

(1) [NCERT-XII-I-95]
Ver =Vp—v; =10-9=1m/s
So time taken,

(100 _100
Vpr 1
t=100s.

(2) [NCERT-XII-I-158]
Since, angle with the horizontal is 45°, therefore
vertical height = range
tan45° = H =1

X
x=H=19.6
f2H 2x19.6
Ti fflight, t=,— =
ime of flig g 0.8
t=2s
X
u=—
t

—~ u =@=9.8 ms™'

4 [NCERT-XII-11-299]
y, = asin(2xft)

Y, =asin(2m‘t +£J
2
y=Yit+Y,
= 2asin| 2nft + = |cos ™
4 4
2a . i
=—sin| 2xnft+—
#eli)
= 2asin(2nft+fj
4
Thus, amplitude = +/2 a, frequency — f
4 [NCERT-XI-I-39,40]

F-mgsind=ma
= F-10x10xsin30° =10x2
= F-50=20 = F=70N




38. (3) [NCERT-XII-I-147]

hce 6.62x10x3x10°
W, = = 10
A 4100x10

=4.8x10""J=3eV
W, =1.92eV
W, =2eV
W, =5eV
W, <W,
W, <W,
31 A IR B UHT Seldg = AMfad & |

39. (3) [Past PYQ]
AR & BRI JEDI &,

B=—0
21X
dA = adx
3R dp =B.dA

[d¢=[BdA

oo b

a+b a.dx
_27:'[

b X

o= ain[x)2® = 2 afin(a + b) - Inb]
2n 2%

_ B In(1+§ — Mi
27 b
TEl, M = SJURT 0T
M=HoB (1,2
2n b
40. (1) [NCERT-XII-II-300]
Forn,=3ton,; =2, A =656.3nm
For n, = 4 to ng= 2, L =486.4nm
Forn,=5ton, =2, A =434.2nm
Forn,=6ton; =2, A =410.4nm

41. (2 [NCERT-XI-11-190]

[NCERT-XII-I-147]

hc 6.62x107%x3x10°®
WOI—: 0
A 4100x10

=4.8x10"°J=3eV
W, =1.92eV
W, =2eV
W, =5eV
Since, W, < W,
W, <W,

Hence, Aand B will emit photoelectrons.

[Past PYQ]
Magnetic field due to wire,

B=—0j
271X
dA =adx
and d =B.dA

[do=[BdA

_ Kol
¢ 2n

atb a.dx
.[b X

o =2dain[x)2® = 2 afin(a + b) - Inb]
2n 2n

;_MBHM

where, M = coefficient of mutual inductance.

M:L@m[nij
2 b

[NCERT-XII-I-300]
Forn, =3ton, =2, A =656.3nm
For n, = 4 to ng = 2, L, =486.4nm
Forn, =5ton, =2, A =434.2nm
Forn, =6ton, =2, A =410.4nm

[NCERT-XI-11-190]

NLI/ 11



[NLT Expert]
faar 8, R @I =18 1=5.0 cm
o= =1 mm

RIS BT IITHID,

pitch

LC = -
number of division on circular scale

=m=0.01 mm
100

T4l BT A9, d

= T YA & UTedid + i 99 &1 uTaias
=1mm+48 x LC
=1mm+48x0.01=148mMm =148 x 10-' cm

AR BT 3MIA = nrl

e g

314 x(1.48x10 " cm)? x5¢cm
a 4

=0.0859732cm® = 0.086¢cm’®

[NLI Expert]
Given, length of the wire, | =5.0 cm

Pitch =1 mm

Least count of screw gauge,

LC = pitch
number of division on circular scale
Tmm
=——=0.01mm
100

Diameter of the river, d

= Reading of main scale + Reading of circular scale
=1mm+48 xLC

=1mm+48 x0.01=1.48mm=1.48 x 10" cm

Volume of the wire = nr?l

A neg

 3.14x(1.48x10"'cm)? x 5cm
a 4

=0.0859732cm® = 0.086¢cm’®

43. (3) [NCERT-XI-1-41] | 43. (3) [NCERT-XI-1-41]
4. (1) [NCERT-XII-11-233,234] | 44. (1) [NCERT-XII-11-233,234]
45. (2) [NCERT-XII--131] | 45. (2) [NCERT-XII-I-131]




CHEMISTRY

46.

47.

48,

49,

50.

51.

52,
53.

54,

55.

56.

57.

58.

59.

60.

@) [NCERT-XII-1-79]
B | 3R B I T A8 B |
1) [NCERT-XII-II-251]
qaifres STl faera § arg —
CH,COOK
@) [NCERT-XII-II-247]
0]
O) kCHa
@iCOZH
@) [NCERT-XII-II-269]
(b)<(a)<(d) <(c)
@) [NCERT-XI-1-309]

Uehlg™ Dl YT O UX Na/qu.NHSEﬁ NI

ST UcdId §-aT 2 |
[NCERT-XII-I-63]
[NCERT-XII-1-218]

[NCERT-XII-I-119]

[NCERT-XI-1I-313]

NaOMe
MeOH

[Co(H20)3 1,].3H,0
@) [NCERT-XII-I-173]

CH,CH,CH,Cl < CH3 CIH CHoCH3 <

Cl
p-H,CO-C,H,—CH,CI

i <i<iii

(4) [NCERT-XI-1-48]
212 A

(2) [NCERT-XI4-119]
6.9

4) [NCERT-XI-II-312]
Four

4) [NCERT-XII-I-81]
4

(3) [NCERT-XI-I-152]

—74.8 kJ mol-

46.

47.

48,

49,

50.

51.

52,
53.

54.

55.

56.

57.

58.

59.

60.

4) [NCERT-XII-I-79]
Both Statement | and Statement Il are correct.
(1) [NCERT-XII-II-251]
The most basic in aqueous solution
CH,COOK
4) [NCERT-XII-II-247]
O
O) kCHa
@iCOZH
(2) [NCERT-XII-II-269]
(b) <(a) <(d) <(c)
(2) [NCERT-XI-II-309]

The trans-alkenes are formed by the reduction of
alkynes with Na/lig.NH,

1) [NCERT-XI-1I-313]

yBr

o4

(1) [NCERT-XII-I-63]
[NCERT-XII-1I-218]

o~ HI [
Heat
OH

[NCERT-XII-I-119]

NaOMe
MeOH

[Co(H,0),C1,].3H,0
@) [NCERT-XII-II-173]
CH,CH,CH,CI < CHj ClH CHyCH3 <
Cl
p-H,CO-C,H,~CH.Cl

i <i<iii

(4) [NCERT-XI-48]
212 A

(2) [NCERT-XI-I-119]
6.9

4) [NCERT-XI-II-312]
Four

4) [NCERT-XII-I-81]
4

(3) [NCERT-XI-I-152]
—74.8 kJ mol'




61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72

73.

74,

75.

(1) [NCERT-XI-II-242]
YSTRT AfAfhar o1 SamEver 8 —
XeF,+O,F,— XeF,+0,

(4) [NCERT-XII-I-18]
94.6%

1) [NCERT-XII-I-119]
[Co(H,0), CL,]CI.2H,0

@) [NCERT-XI-I-18]
84.3

1) [NCERT-XII--37]
cl,

1) [NCERT-XII-II-264]
NaOH & ¥R HIdl 3R Br,® U Hldl

3) [NCERT-XII-I-126]
cis[Co(en),CL,]CI

3) [NCERT-XII--102]
[Cr(H,0) > 3R [Fe(H,0) J**

M [PYQ]
Li,O, Na,0, 3R KO,

(4) [NCERT-XI-I-175]
1.818

3) [NCERT-XI-II-308, 309]
1-Bfd-2-FEH

1) [NCERT-XII-II-271, 275]

CN
E=
CH,

(4) [NCERT-XI-I-182]
Uz faem wifd Q> K,

(4) [NCERT-XII-I-18]
64

3) [NCERT-XII-II-213]
I A= @

CH,
AT B =

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72

73.

74,

75.

(1) [NCERT-XI-II-242]
An example of a redox reaction
XeF,+O,F,— XeF,+0,

4) [NCERT-XII-I-18]
94.6%

(1) [NCERT-XII-I-119]
[Co(H,0), CL]CI.2H,0

(2) [NCERT-XIH-18]
84.3

(1) [NCERT-XII-I-37]
Cl,

(1) [NCERT-XII-II-264]
Four moles of NaOH and one mole of Br,

(3) [NCERT-XII--126]
cis[Co(en),CL]CI

(3) [NCERT-XII-4-102]
[Cr(H,0),J*" and [Fe(H,O) ]**

(1) [PYQ]
Li,O, Na,O, and KO,

4) [NCERT-XI-I-175]
1.818

(3) [NCERT-XI-II-308, 309]
1-Phenyl-2-butene

(1) [NCERT-XII-lI-271, 275]

CN
E =
CH,

4) [NCERT-XI-I-182]
reverse direction because Q >K_

4) [NCERT-XII-I-18]
64

(3) [NCERT-XII-II-213]

Compound Ais

Compound B is

Compound C is

CHO
Compound D is

©
©
o
o




76.

77.

78.

79.

80.

81.

4) [NCERT-XII-I-212]

N, CI"
IIfTH A =
OH
IIfTd B =
1) [NCERT-XII-II-215]
AfTd A, B3R CHA: & —
?Hs I
CH,~C=CH-CH,, CH,~C~CH,, CH,CHO
(A) (B) (C)
1) [NCERT-XII-210]
(TeehTETe) (STI<)
. 10 Ucpiad - Ucslglss
. 20TchIgd - ®Hled
. 30TchHIEA - Tebd
a-iii, b-i, c-ii
(2 [PYQ]
(SHTDTRD) (STTR)
OH
. @ +7Zn - aﬁ:{
OH
NasCroO
Ot - i
H
. é (ICHCI3+agNaOH . — oIS BISS
(i) NaOH
(iiyH
a-i, b-iii, c-ii
3) [NCERT-XII--34]

p(H,) = 2 atm 3R [H]=1.0 M

() [NCERT-XI--94]
Mg # MU A 90 O TR MATSS BT il
T 9T & |
34Tad B IMRISS

76.

77.

78.

79.

80.

81.

4) [NCERT-XII-lI-212]
N,'CI

Compound Ais

H
Compound B is
(1) [NCERT-XII-II-215]
CompoundA, B and C are respectively-
. i
CH,-C=CH-CH,, CH,—~C—CH,, CH,CHO
(A) (B) (C)
(1) [NCERT-XII-210]
(Alcohol) (Product)
* 1°%alcohol — Aldehyde
« 2%alcohol — Ketone
« 3%alcohol — Alkene
a-iii, b-i, c-ii
@) [PYQ]
(Reactant) (Product)
OH
. +2Zn — Benzene
H
. NasCrpO7 _ .
Ho504 Benzoquinone
OH
. ()CHCI3+agNaOH | — Salicylaldehyde
(i)yNaOH
(iiiyH*
a-i, b-iii, c-ii
(3) [NCERT-XII-I-34]

p(H,) =2 atm and [H*]=1.0 M
2) [NCERT-XI-1-94]

On moving left to right in a period, the acidic
character of oxides increases.

3" period element oxides




82. (4) [NCERT-XII--102]

[Fe(CN),J> @ [Fe(CN),J> 3T<IRe® BT Hagel ©
ST HHI: 09 1 gFHd seag wEd 2|
[Fe(H,0).]*" @ [Fe(H,0) > a8 P& Wehel ©
s e 59 4 3R slag B |
[NCERT-XI4-115]

83. (3)
SF, — I<HAbI

84. (4) [NCERT-XI4-115]

B | 3R U Il Sl TaT 2 |
85. (4) [NCERT-XII-1-124]
[Co(NH,),(NO,)ICl,
LJTCIQ‘-IIS"I"II&;QI—N—CM&SII("C(lll) CEINES]

86. (3) [NCERT-XII-I-127]
Aciii, B-i, C-ii, D-iv
87. (3) [NCERT-XI--104]
o)
o - |F|> -0~
O'-

-3
Charge i -0.75

P—-O bond order = g =1.25

88. (1) [NCERT-XI-I-129]
Species BO
Ne, 0
N, 3
F, 1
o, 2

89. (4 [NCERT-XI-I-111]
CH,Cl, is polar.

9. 4 [NCERT-XII-I-100]

ST &Y 3R Sl gl B, &R 0T Tedl & |

82,

83.

84.

85.

86.

87.

88.

89.

90.

(4) [NCERT-XII-1-102]

[Fe(CN),J* and [Fe(CN)J* are inner orbital
complexes having 0 and 1 unpaired electron
respectively. [Fe(H,O),** and [Fe(H,0) J** are out
orbital complexes having 5 and 4 unpaired
electrons.

(3) [NCERT-XI-I-115]
SF, — Octahedral
4) [NCERT-XI-I-115]

Both Statement | and Statement Il are correct.

4) [NCERT-XIIH-124]
[Co(NH,).(NO,)ICL,
pentaamminenitrito-N-cobalt(lll) chloride

(3) [NCERT-XII-I-127]
A-iii, B-i, C-ii, D-iv

(3) [NCERT-XI-I-104]

O
o - I|:|> -0
o

-3
Charge -~ = -0.75

5
P—-O bond order = 1 =1.25

(1) [NCERT-XI-I-129]
Species BO
Ne, 0
N, 3
F, 1
0, 2

(4) [NCERT-XI-I-111]
CH,Cl, is polar.

(4) [NCERT-XII-I-100]

As the ionisation energy increases basic nature
decreases.




9.

92

93.

94,

95.

96.

97.

98.

BIOLOGY

3) [NMC Syllabus]

BT S & foy FE fAdhey § —
a. CoISRIARd
b. B BRI
c. &
e. SIgHNY Gﬁ? CoTHRNY
(1) [NCERT--45to 51]
A. Bref l. BHSl & gRT 39949
B. LR Il 1q 3R Jyof
C. AW . T& frera
D. SR IV. TCHIBTS

™
TgTe BT fAHTor gatawern | gar @
&) [NCERT-II-225]
51 @, Hdd FGRH, WIS §6 — 98T W
RefoT
T § RN IR Sraf~<aar UeTe—aRe HReToT

() [NCERT-1I1-220]
SIN—e T ST YT fadidg Yeldole) dT
gHlec @ g faan war 7

@)

[NCERT-1-126]

[NCERT-I-243 to 246]

A. PTH Il. & H Ca*? dT WR
qoTdT ®

B. TCT IV. YT H Ca2 T TR
T &

C. &I l. 3G ¥ TSIl BT WX
qoTdT ®

D. sgfer . ad H DI B
TR el &

(1) [NCERT-1-224 to 226]

A. J5H Il. BIHD VS

B. <HIRG 3ffRer . HUTIT 37fRer

C. hYell IV. 39 g

D. didaa I1RRer . sl g

)

DT -1:
fa%eT & SR IR ST BIRDBAH T Slased
SHl H €1 AT HY TS WA gaardl A Torval
gl

DY -1l :

JYTGROT & HROT fAYHYoidT &7 fdbrg gevay | grr
ST B |

[NCERT-1-173]

9.

92.

93.

94,

95.

96.

97.

98.

(3) [NMC Syllabus]
The correct option for family Brassicaceae —
a. Tetradynamous

b. Cruciform corolla
c. Replum
e. Dimerous or Tetramerous flower

(1) [NCERT-I-45 to 51]
A. Elephant I. Respiration by lungs
B. Pigeon IIl. Crop and gizzard
C. Viper lIl. One ventricle
D. Balanoglossus IV. Stomochord

™M
Tetrad is formed in Prophase |
(3) [NCERT-II-225]

Seed bank, Tissue culture, Pollen bank — Ex-situ
conservation

[NCERT-1-126]

Khasi and jaintia Hills — In-situ conservation
4) [NCERT-I1-220]

The species area relationships are given by German
Naturalist Alexander von Humboldt

3) [NCERT-l-243 to 246]

A. PTH Il. Increases the Ca*level
in the blood

B. TCT IV. Decreases the Ca*
level in the blood

C. Glucagon lll. Increases the glucose
level in the blood

D. Insulin I. Decreases the glucose
level in the blood

(1) [NCERT-I-224 to 226]

A. Sacrum Il. Vertebral column

B. Temporal I.  Cranial bone

bone
C. Scapula IV. Pectoral girdle

D. Coxalbone 1.

4)

Statement I:

Pelvic girdle
[NCERT--173]

During differentiation, cells undergo few to major
structural changes both in their cell walls and
protoplasm.

Statement Il :

Heterophyllous development due to environment occurs
in buttercup.




99.

100.

101.

102.

103.

104.

105.

@
DY -1:
SATFEA AP AR W g qTeIeh fhAT Hetrdl 7 37ram
gl
DY -1l :
Wl & b & SR AT Tad Bl T B gl
FRAT © TGE gig H TRT T 59 9ed DI FTsHideD
99 HEd © |
(4) [NCERT-II-44]
THI (A) 3R (R) &I 3R (R), (A) & 8T e
IRAT B |
(1) [NCERTH-187]
A. pO, - 104 mmHg — g HUHT TR
pO, — 95 mmHg — 3{TeRiTeheT el
C. pCO,—-45 mmHg—&dd WX
D. pCO,-40 mmHg - a1g HfUdl TR
) [NCERT-1-65]
RIS & forw et ®oe & —
«  dIoTvs BRI P& H B & AR I8 Y T8
g1
(1) [Old-NCERTH-I]

SHTSIIAA H UTIdR ETy SR qT fAeTd U
T & Frderd 2 ik fiedl & - afow wu 9 afyg
PRA & IR TS d18 d1eR et 3Tl § iR ufeqar
T URIE I & |

)

DY It

HY TEHIR@I SAl & oA AR I IHR Dl

Tfer # BT 2

DY Il :

DIRTBI—D BTl T oI — FeAaa=g A1 g 7fa

| BN © |

(4) [NCERT-1I-20]

a. B & e I HT Fio7 B 2 |

b. YU & 59 Udh el R Bl 2| UT:
RIETT 3MER HUSRYT & HIRYT el s Ud e
Il B |

c. URYUUN IR FSVSH B WIS FHAA
Il © |

d. 980 WR Wall o ud 6l & uRadu gg
fafay fopar faftrlt faelm @1 2|

[NCERT--177]

w

[NCERT-I-218]

99.

100.

101.

102.

103.

104.

105.

)

Statement I:

[NCERTIT77]

Ethylene is largely an inhibitor of growth activities
Statement Il :

Ethylene enhances the respiration rate during ripening
of the fruits this rise in rate of respiration is called
respiratory climactic.

4) [NCERT-lI-44]
Both (A) and (R) are true and (R) is the correct
explanation of (A)

(1)
A.

[NCERT-1-187]
pO, — 104 mmHg —At alveoli
B. pO,-95 mmHg - Oxygenated blood
C. pCO,—45 mmHg —At tissue

pCO,—40 mmHg —At alveol

o

(@)

The correct statements for Primrose

[NCERT-1-65]

» The ovules are borne on central axis and septa
are absent

(1)
In Chrysanthemum the lateral branches originate from
the basal and underground portion of the main stem,
grow horizontally beneath the soil and them come out
obliquely upward giving rise to leafy shoots

() [NCERT-1-218]

Statement I:

[Old-NCERT-]]

The contractile property of muscles are effectively used
for locomotion and other movements by human beings
and majority of multicellular organisms.

Statement Il :

Cytoskeletal elements like microfilaments are also
involved in Amoeboid movements.

(@)

a. Seeds are formed inside fruit

[NCERT-1-20]

b. The cotyledons of the embryo are simple
structures, generally thick and swollen due to
storage of food reserves

c. Ploidy of perisperm and nucellus are same

d. Many fruits have evolved mechanisms for dispersal
of seeds




106.

107.

108

109

110.

1.

112.

113.

114.

115.

116.

@ [NCERT--159]
OAA, FFII® 31 , TIHR® 3TFe—4 HIad
BIRED

(1) [NCERT-I-159, 160]

AgCIDIfOgaAT & ETS § Siweldd Il Cytbe, &

. (3) [NCERT-1-183]
JeHIAYY 399 — Tel)
. (2) [NCERT-I-236]
URTSTeT 31 ART™h TUdh W
) [NCERT-II-195, 196]
dN

EﬂN(%j & fag @& sgouar

1) N — ST g9

r—UThfde gig Bl graiild aX

3) K — TIyoT efHaT
4 [NCERT-II-192, 193]
(1) STHER — ST 89 H dela
(2) JMYATAT — STAGET T H ggIaa)
(3) SHANT — SR g-cd §  Helan]
(4) IR — TR T H Fela
) [NCERT-I-107 to 118]
A. XTsdTST . gl 3
B. RuBisCO Il 9
C. NADP . e fFari=
D. CH,0, V. UTgide et
) [Old-NCERT-]]
STl T 3R Hdgd ¥ WRABISAT & gRT 8l 2 |
) [Old-NCERT-]]
fear T foa AP @1

AT TS Hdd —  UNTTHISH]
O]
1) HISHITHT — 0.3 pm
2) fawmoy —0.02 to 0.2 um
3) PPLO —0.1 um
4) JHRAMCH BIRTHT — 10 to 20 um

[NCERT-I-88 to 90]

(
(
(
(

(1) [NCERT-11-96 to 98]
A) RT3 | oSS
TS H BRBRTgCIST
@) ifba It . TGAD o § del
TR # uRad=
(C) AUG N, <E HR
(D) t RNA V. fouferr o9 & ot @

e foar §

106.

107.

108.

109.

110.

1.

112.

113.

114.

115.

116.

@ [NCERT--159]

(1) OAA, Succinic Acid, Fumaric Acid — 4 carbon
containing compound.

(1) [NCERT-I-159, 160]
In ETS of mitochondria Cyt bc, is the complex |lI
(3) [NCERT-1-183]
Birds — Pulmonary Respiration
)
Amygdala is a part of Fore Brain

4)

[NCERT-1-236]
[NCERT-II-195, 196]

dN K-N
The correct match for ~ 5~ = N BN

N — Population density and time t

r — Intrinsic rate of natural increase

— o~ o~
N
-

K — Carrying capacity
[NCERTH-II-192, 193]
Natality — Increase in population density

(
(2) Immigration — Increase in population density
(3) Emigration — Decrease in population density
(4) Mortality — Decrease in population density
(2) [NCERT-I-107 to 118]
A. Ribose I.  Nucleic acid
B. RuBisCO IIl. Protein
C. NADP lll. Vitamin niacin
D. CH,O, IV. Pyruvic acid

(2 [Old-NCERT-]]

The radial conduction of water takes place by
Ray parenchyma

@)

The given diagram is parenchyma

[Old-NCERT-]]

Living permanent tissue — parenchyma
4 [NCERT-1-88 to 90]
1) Mycoplasma — 0.3 um
2) Virus — 0.02 t0 0.2 um
3) PPLO-0.1 um

(
(
(
(4) Eukaryotic cell — 10 to 20 um

(1) [NCERT-11-96 to 98]
(A) Severoochoa I.  Polynucleotide phosphorylase
enzyme
(B) Sickel cell Il. Change of glutamic acid to
Anaemia valine
(C) AUG lIl.  Dual functions
(D) t RNA IV. Look like a clover-leaf




7. (1) [OId-NCERTA] | 117. (1) [OId-NCERTH]
Uell & oy 21 S Hudr © (1) Smooth — Involuntary — Blood vessel
(1) fae — sMfeod — Yo arfesdr (2) Skeletal — Voluntary — Biceps
2) Bdreg — Veod — fGRRwDT (3) Smooth — Involuntary — Intestine
() fas-l — smfeed — offd (4) Cardiac — Involuntary — Intercalated disc
(4) BT —3Mftod — IS fivs 118. (3) [OId-NCERT-]
118. (3) [Old-NCERT-I] (1) Denseregular — Collagen fiber
(1) e frafaa ~  BIeIor g connective tissue
MRS (2) Dense irrgular — Collagenfiber
(2) ¥rer sifafhd ~ IS T connective tissue
NRISUSAED (3) RBC,WBC —  Fluid connective tissue
(3) RBC,WBC ~ TR AT $AD (4) Hormone — Secretion of ductless
@) 'HE - Hferer fafes ufeer gland
T T 19. (2) [Old-NCERT-]
9. @ [Old-NCERT] The correct match for cockroach
DI B oI AT SFTHU & —
o ) (1) Eyes —  Ommatidia
(1) 3if - |gad .
2 NN S ST S (2) Maxillary palps — Sensoryorgan
3) s : R (3) Sclt-arites | - Chit.in
@ W P _ W (4) Entireforegutis — Cuticle
120. 4) [NCERT-II-32, 33]
120. (4) [NCERT-II-32, 33] Statement I:
DY -1: The secondary oocyte retains bulk of the nutrient rich
s eved, UIftE vSd D UNE TRYR cytoplasm of the primary oocyte
PIRTGT T B AT BT Afad @ © | Statement Il :
DY -1l : The more layers of granulosa cells are present in
fedrs geo ¥ yrefie yedb &) gor § Hivrer secondary follicles than primary follicles
BIRTHIRI BT gl URd BT 2 | 121. (1) [NCERT-II-33, 34]
121. (1) [NCERT-II-33, 34] The correct order for events of menstrual cycle
3cid dsh b1 TeTRM & fory wEl A © (1) Follicular development — maturation of follicle
« gTHIY e - yedhl b1 gRuFET - —> ovulation — development of corpus luteum
IS B GEIH o1 fadmr 122. (4) [NCERT-II-30]
122. @) [NCERT-II-30] Both (A) and (R) are true and (R) is the correct
< (A) SR (R) € 8 SIR (R), (A) 1 Wl e explanation of (A)
HRAT 2 | 123. (2) [NCERT4-236]
123. (2) [NCERTH-236]
ey N Sreaen a. Control gastric secretion — Medulla
b. Control respiration — Medulla

b. vaas &I fFaf5a dxar & — wee

c. UeHT 3R Ar=HT — AEH

d. IR drog &1 Aafeaa erar e—ssudedy
e. WM 3R G & Ydl STBT—B8UITHd

o

Learning and thinking — cerebrum
d. Control body temperature — Hypothalamus

e. Urge for eating and drinking — Hypothalamus




124,

125.

126.

127.

128.

129.

130.

131.

()

DY -1:
ATSH 3R ATSHRIST HSIUBTRAT BT IETERT ¢ |
DY -1l :

TTSd 1 B JaT | FATILID UINds dedi B SJTToT
H UTeU} & FETIdT BRd & Sid(P daol H UIqy, Hadl
BT Holl — IAe! BlEEESC <d o |

3) [NCERT-11-47]

STls —IFTSTd & §IRT BIAT 2 |

@) [NCERT-11-60]

RR — AT g, rr — A%& G, Rr — Yl qd

& T B & UBR & fory I HUA 7
Rr x RR

a. Tl gsT BT Ufderd 50% &

b. T YT BT URerd 50%

d. 9%< I &I Ufaed I %

)]

[NCERT-I1-201]

[OId-NCERT-I]
BIpTE | Y SRS BT IRIET BT B |
3) [NCERT-I-80 to 84]
Hedh —d=dh Afed RBC, Jsiicferd 3iR <ifites fgzaudr
3) [NCERT-I-106, 107]

(1) 99« 9 3Fd — QI 999 & [
(2) FEJW THI T —  Ueh 3T 3ffdb C=C
TIERT g%
(3) TAMTSeld 3T U GRINIMES]
(4) ReriRTa ~ TS W SreT
BT URATY]
3) [NCERT-1-118,119]
(1) NAD - ®Efae e
(2) NADP - ®Efae e
(3) TR H - ®Efae Affre
g W
(4) UISY, HaDH H —  OlelaRIsS
PIRHEIIN BT
SR
@ [NCERT-I-93 to 95]
(1) afsha gRasH -  Solf ®R R ufesar
(2) URRIMRITATT — 31 f3ifectar a= &1
T T8l &
(3) IR - fORUT & gRT ST &I
EShl
@) 52% T - UNIST DI e

124,

125.

126.

127.

128.

129.

130.

131.

@)

Statement |I:

[NCERT-I1-201]

Lichen and mycorrhizae are example of mutualism.
Statement Il :

In lichen the fungi help the plant in the absorption of
essential nutrients from the soil while the plant in turn
provides the fungi with energy - yielding carbohydrates.

(3) [NCERT-II-47]
STIs — caused by pathogen
(2) [NCERT-II-60]
RR - Red flower, rr — White flower, Rr — Pink flower
the correct statement for given type of cross
Rr x RR
a. The percentage of pink flower are 50%
b. The percentage of red flower are 50%
d. The percentage of white flower are zero %
(3) [OId-NCERT-I]
In cockroach blood does not transport oxygen.
(3) [NCERT-I1-80 to 84]

Frog — Nucleated RBC, Ureotelic and Sexual
dimorphism

(3) [NCERT-1-106, 107]

(1) Saturated fatty —  Without double bond
acid

(2) Unsaturated fatty — OneormoreC=C
acid double bond

(3) Guanylic acid — Nucleotide

(4) Glycerol — More carbon atom
than glycine
(3) [NCERT--118, 119]
(1) NAD —  Organic compound
(2) NADP —  Organic compound
(3) Haemgroupin —  Organic compound
peroxidase
(4) Componentsofcell — Polysaccharides

wall in plants, fungi
[NCERT-I1-93 to 95]

Energy dependent
process

Not a part of
endomembrane

Active transport
Peroxisomes -

system
Osmosis — Movement of water by
diffusion

Membrane of
erythrocyte

52% protein -




132. (3)

[NCERT-I-197]

(1) wefordt - S sifer=
2) SHIWR - U& e
3) TRHED - Ty
(4) FITERY - Ty
133. (4) [NCERT-I-194, 195]
(1) gHrEESH - Ped IURYT
2) gHEESH —  Xqd BT A
6000-8000
mm-3
3) SR - WBC & 2-3%
(4) HireTEe R LFSINIESS]
134. (1) [NCERT-11-67, 68]
] SHN & I R o GAHATS BT %
135. (2) [NCERT-I-205, 206]
Hed AR A= — JRATTH
136. (4) [NCERT--213]
T, Bl AR I AL H Il YRS B
AP o e @
137. (2) [NCERT-I-48 to 50]
(1) e — 3R PdTa
(2) PraRT — & bl gey
(3) HeD —  FAIgDT
(4) qrar — SHCIH IR
138. (2) [NCERT-l-24 to 32]
(1) ERICH 3R B — cREBIZSH
(2) HaET SHIh — TSIT<H
(3) wHH — fgfei
(4) THarmEIgd — QI STHI UTedRI FelfSTett
139. (3) [NCERT--11]
Ure SATd @ Ty ITeld STgudl &l a3 H
gifewer @t
(1) s f3reet IuRerd Suferd
(2) IRR ATH CANEIR] b /3T
3) PIferdr Al o H SURd  IuRerd
(4) AT @y fafey U 3R RELIN
sy
140. (4) [NCERT-lI-142to 148]

C, UTey 3fR C, Urey — RuBiSCO T1gH CO,
Rerdiavor # wnfier &

132

133.

134.

135.

136.

137.

138.

139.

140.

Q)

(1) Fishes

(2) Amphibians
(3) Crocodile
(4) Mammals
4

(1) Leucocytes

(2) Leucocytes

(3) Eosinophills
(4) Monocytes
(1)

[NCERT-I-197]
—One Auricle
— Oneventricle
— Two ventricle
— Two ventricle
[NCERT-I1-194, 195]
— Nucleated
— Average 6000-8000
mm- of blood
- 2-3%of WBC
— Agranulocytes
[NCERT-II-67, 68]

Distance between two genes « % of recombination.
(2) [NCERT-I-205, 206]
Frogs and Humans — Ureotelic
(4) [NCERT-I-213]

Skin, Lungs and Kidney are involved in Elimination of
Excretory wastes in Human:

(2) [NCERT-1-48 to 50]
(1) Catla — Bony skeleton
(2) Cobra — Three chambered heart
(3) Frog — Cloaca
(4) Parrot — Pneumatic bone
(2) [NCERT-I-24 to 32]
(1) Horsetail and ferns — Pteridophytes
(2) Vascular tissue — Adiantum
(3) Sphagnum — Bisexual
(4) Phaeophyceae — Two unequal lateral flagella
(3) [NCERT-I-11]
(1) Nuclear Present Present
membrane
(2) Body Cellular Tissue/
organisation Organ
(3) Cellwall presentin some Present
(4) Mode of Autotrophic ~ Autotrophic
Nutrition and
Heterotrophic
(4) [NCERT-lI-142to 148]

C, plants and C, plants — RuBiSCO enzyme
involved in CO, fixation




141. (d) [NCERTI-135]
B FHR ST AR S TR SHary] 7 ffafiaor
‘Dl IdAT] HehXY Gﬁ? Hethc  gldl %\r
142. (1) [NCERT--135]
6C0O,+12 H,0 —=5 C H,,0,+6 H,0+6 O,
143. (1) [NCERT-II-172,173]
HHIFATH — Hhdd Q:I_Cf‘éj_"f
144. (2) [NCERT--11 to 16]
(A) TSN STig - /I9RT, WIfeReT, ®ad, @il 3R
T H SuRerd 2 |
(B) @Ure) Sig AMRT, WfeweT iR wirel # Sufkerd
g
C) gpRAfesd Sia yifewer, wii<l, ®ad 3R
T H SuRerd 2 |
() HITT 3R geanft Sfia Mifever # Sulerd B |
145. (2) [Old NCERTH-]
fafrd — Mo v RIS’ BT Jderd 8IaT © |

146. (4) [NCERT-I-210]
(A) 3ITH BT geT - T UV WK
R WY ST 2
(B) g™ - U W STET 9N /R
TR Y ST @
(C) Hoel - TP A SIIET G907 ¥R
R Y ST @
(D) TRAT - TP A SIIET G907 ¥R
TR Y ST @
147. (3) [NCERT-II-211]

() A-5000 S, C- 5000 St
() A- 5000 S, B - 500 ST, D - 500 Sfet

(IV) B - 500 S[ef, E - 50 St
148. (1) [NCERT-I-73 to 75]

foRTer= 3rerrdl §RY & foTy =R QIR HeT § =gy

BIf

(A) TR SR 3FrdT A B FhT @

(C) HTET ATEd AT AHY & Aol 8

(D) #TeT §9R B Ahdl §
149. (2)

DY -1:

[NCERT-1-47,48]

141. (4) [NCERT-I-135]

Sulphur or Sulphate are the oxidation productin green
sulphur and purple sulphur bacteria:

142. (1) [NCERT-I-135]

6CO, +12 H,0—" ,C H,,0, +6H,0+ 60,
143. (1) [NCERT-I-172,173]
Somaclones — tissue culture
144. (2) [NCERT-I-11 to 16]

A) Parasitic organism are presentin Monera, Protista,
Fungi, Plantae and Animalia

(B) Autotrophic organism are present in monera,
Protista and plantae

(C) Eukaryotic organism are present in Protista,
Plantae, Fungi and Animalia

(D) Flagellated and cilated organism present in Protista

145. (2)
The meaning of Greek word ‘Meristos’ —

[Old NCERT-I-]
Divided

146. (4) [NCERTHI-210]
(A) Mango tree - Placed at first
trophic level
(B) Human - Placed at more
than one trophic level
(C) Fish - Placed at more

than one trophic level

Placed at more
than one trophic level

[NCERT-II-211]

(D) Sparrow -

147. (3)
() A-5000 Jule, C-5000 Jule
(I A-5000 Jule, B - 500 Jule, D - 500 Jule
(IV)B - 500 Jule, E - 50 Jule

148. (1) [NCERT-II-73 to 75]

For sexlinked recessive disease the possibility of male
and female:

(A) Male may be diseased or normal
(C) Female may be carrier or normal
(D) Female may be diseased
149. (2)
Statement I:

[NCERT-1-47,48]

— Marine Animal and

coelomate animal

Statement Il :

- S . .
%.\\ — False fish and Triploblastic

-

animal




150. (1) [NCERT-I-124,125]
e B Seufed IR faprd & fawa & 9 o= 2
(1) BT T 18,000 8T Ygel AT
2) safuded IR IAdHw urgHeyd 15 fHeiad
Y ygel IRa@ H 9, JTeHl @ TRE FoAd o
3) B ¥l ur: Hie @ o
(4) FU=eRerer ameHr TR # 1,00,000 31R 40,000
99t Ugel & B o |
151. (2) [NCERT-1-120,121]
ST @l IMIARIE AT § 99 I8 9 ygfed
ATeG D FUNT BT 3G D gRT T 8l Ahall © |
152. (2) [Old NCERT-I]
A. UHERMER AH go[d § SFE Bl yWIfad
HRAT &, Q! UgY AR ST
(B) @13 i fiia avg U= 72 yehRfa o=l 2 |
(C) Y Shfaa Sha Sutaeg & uelRid &Rd &
(D) BIRTHI 3TH & T[0T 3P & A0IdDh faFar
# SuRera w8 81 ®

153. (1) [NCERT-11-181,182]
Sgfor — Y2 AI9a 8 JTARTSl DNA Tl &
SRT I91IT T &

154. (4) [NCERT-1-172,173]
PCR % SUINT BIF dTcl DNA UTeliRol & d<d #
TG I 2 |
(3) IT TP SIAIY] (2 adfedhd) 9 el far

TR
(4) I Iea ATOHI W |AfHT F91 I8l 8

155. (4) [NCERT-I-168 to 170]
SIS, SIETIe — aT8dh

156. (3) [NCERT-I-170]
TFRINTA THBRITE BT “Ti oS’ TR
IR wroTe @ forw BT &

157. (2) [NCERT-|I-155]

MR 9 #, Faffdre qm=r §199 o 8kl @

158. (2) [NCERT-II-142 to 144]
A UrE: aafdadl & faar e 8, e e
firar g8 7, ¢ FaRa & wRe

159. (4) [NCERT-II-138 to 140]
AIDS & T # fmafalRad § 9 &9 A1 $U da
g
(4) HIV XSIfA9TY] ®R&b AeR™d T-fompraged 4

U9 HRAT & 39 X8 SHP] T "erdl §

150. (1) [NCERT-11-124,125]

The statements is correct about the origin and evolution
of men

(1) Agriculture came around 18,000 years back.

(2) The Dryopithecus and Ramapithecus primates
existing 15 million years ago, walked like men.

(3) Homo habilis probably ate meat.

(4) Neanderthal men lived in Asia between 1,00,000
and 40,000 years back.

151. (2) [NCERT-1-120,121]

The tendency of population to remain in genetic
equilibrium may be disturbed by lack of random mating

152. (2) [Old NCERT-]]

A. Photoperiod affects reproduction in seasonal
breeders, both plants and animals

B. No non living object exhibit metabolism
C. Allliving organism exhibit metabolism

D. Properties of cellular organelles are not present in
the molecular constituents of organelles

153. (1) [NCERT-1-181,182]

The first human hormone produced by recombinant
DNA technology is insulin

154. (4) [NCERT-11-172,173]

The true statement regarding DNA polymerase used
in PCR

(3) Iltisisolated from a Bacteria (Thermus aqueticus)
(4) Itremains active at high temperature.
155. (4) [NCERT-II-168 to 170]
Plasmid, Bacteriophage — Vector
156. (3) [NCERT-II-170]

The “Ti plasmid” of Agrobacterium tumefaciens stands
for:

(1) tumor inhibiting plasmid tumor independent
plasmid

(2) tumorindependent plasmid

(3) tumorinducing plasmid
157. (2) [NCERT-II-155]

In gobar gas, the maximum amount is that of methane
158. (2) [NCERT-II-142 to 144]

Morphine is often given to persons, who have undergone
surgery, as a pain Killer.

159. (4) [NCERT-II-138 to 140]
The statements is correct with respect to AIDS

(1) TheHIV can be transmitted through blood together
with an infected person.

(2) Drug addicts are more susceptible to HIV infection.

(3) AIDS patients are being temporary cured cent
percent with proper care and nutrition.

(4) The causative HIV retrovirus enters helper T-
lymphocytes thus reducing their numbers.




160. (1) [NCERT-I-141]

DI AT SHSHT (MRI) Thilch DR BT ggd
IR @ fory Fawt gRfard 2
161. (2)

[NCERT-I-28 to 34]

DY -1:

- HIgHT Uy 3R WRIGIES YT

e 2R 2

162. (4) [NCERT-1-93,106,107]
DY -1
HOCH, O.
. MTaRIe uaref &1 s/aud
OH OH
DT -1l :
— BIFGT f3reell BT qIq
163. (1) [NCERTHI-114,115]
AT AR fadT
ICERS
(1) Sifeeud iR gétea & IRuTal
IR Bl AT CARSIED
164. (3) [NCERT-II-99 to 101]

TGP YIS — Udh 3MURTT & IMMURER & I §eraT

& 3R RNA UTeTNGT T 1T & | SIRT T SFJeRaid

B A

165. (1) [NCERT-11-95 to 99]

MR TH 50 MMl el & UlClUCIgS DI Herd

PR dTel Ub OiiF H, 25th BIsE (UAU) SaRafdd

EIHR UAA BT ST

(1) U% 24 AT 377l BT Uleluergs &1 =i
BT

160. (1) [NCERT-II-141]
The techniques is safest for the detection of cancers

(1) Magnetic resonance imaging (MRI)
161. (2) [NCERT-I-28 to 34]

Statement |I:

—Vascular plant and sporophyte are

dominating stage

Statement Il :

— Vascular plant and sporophyte are

dominating stage

162. (4) [NCERT-I-93,106,107]
Statement |:
HOCH, O.
OH
— Component of genetic material
OH OH
Statement Il :
— Component of cell membrane
163. (1) [NCERT-1I-114,115]
Convergent Divergent
evolution evolution

Bones of forelimbs
of vertebrates

[NCERT-1I-99 to 101]

(1) Eye of octopus
and mammals

164. (3)

Repressor protein — the component that binds to the
operator region of an operon and prevents RNA
polymerase from transcribing the operon.

165. (1) [NCERT-II-95 to 99]

if in a gene encoding a polypeptide of 50 amino acids,
25th codon (UAU) is mutated to UAA

(1) A polypeptide of 24 amino acids will be formed.




166.

167.

168.

169.

170.

171.

172.

173.

174,

@ [NCERT-II-90,91]

30 dIas H Ufigfe o ufthar & wve # |8

B B

(4) DNATR ¥R DNA UTciFRGT 9gataiaxel &l 5 — 3
%1 foem # SART F=ar @

4) [NCERT-1-62 to 64]
U MG -R H AB, Ab, aB 3R ab STIHICIgY & 1T
TGS T TTHTOT Rl & | ST b o1 SguTel & &
fguciicli 1ol W Hefd & 39 fdd & Frd
STFICTSY AaBb 2 |

3) [NCERT-II-5 to 18]
g @ 100 JFHATSI/100 I=F BT I & ol fHof e
e favro™ @ dr anawad gl
= A | U= BT ol FEAT+ 1/4 AT | I=F B
el AT
=100 + 1/4x100 = 125

(1) [NCERT-1-121,122]
TP BIAG BIRIGT T U= BIfRGT ash & S
TeRel Bl R YUl BT &, gl I & e al
o ¥, 39D U
(1) IORIAT DI &1 AT =T 3R DNA &1 A3 IR

AT 8

®)

SFTATaRRAT

[NCERT--124]
Besdh JATROT YA,
ool divgerad ga:HfHa
(1) [NCERT-I1-182]
S ferferear €1 =Y off 1990 & Udh aR a¥ BT TSDH
S TSR fITd-ST & B & |1 '

() [NCERT-II-223]

AIgel Ud Bl g4l AwidT o faaeiRar s § srerm
T 99 3T | v8w arell uiRRefas w9 | Joirs
Rrafers weferl @ 200 % 1@ Sfodf fage 81 1

SR far mar gt facsh Sifoal &1 ShHT Bl
IR PR Vel 2 |

3) [NCERT-11-62 to 64]
HUEd & fgdaRo HE @ foly |l U &

a. IR UPR & D 91 ¢ |

b. WFICISY &T U 9:3:3: 18T T

c. dIS1 B AR R dIST BT [T IUART febar T
d. el e |aife der § BT ©

7)) [NCERT-I1-180]

TNSFIRTT TTHIGRITRT AT Heel U F argd
DNA & IR0 § SUIRT 8idl &

166.

167.

168.

169.

170.

171.

172.

173.

174,

4) [NCERT-I-90,91]
The DNA dependent DNA polymerase catalyses

polymerisation in 5 — 3’ direction.

@) [NCERT-II-62 to 64]

A human male produces sperms with the genotypes
AB, Ab, aB and ab pertaining to two diallelic characters
in equal proportions. the corresponding genotype of
this person is AaBb

)]
Total number of meiotic divisions required for forming
100 zygotes/100 grains of wheat is

[NCERT-II-5 to 18]

= Total number of zygotes/grains + 1/4 Total number
of zygotes/grains

=100 + 1/4x100 = 125
(1)
A somatic cell that has just completed the S phase of

its cell cycle, as compared to gamete of the same
species, has

[NCERT--121,122]

(1) twice the number of chromosomes and four times
the amount of DNA

@)

Telophase

[NCERTH-124]
Nuclear envelope reforms,

Golgi complex reforms.

(1) [NCERT-II-182]

Gene therapy — The therapy was given in 1990 to a four
year-old girl with adenosine deaminase (ADA) deficiency
(2) [NCERT-II-223]

The Nile perch introduced into lake victoria in east Africa
led eventually to the extinction of an ecologically unique
assemblage of more than 200 species of cichlid fish in
the lake.
The above given sentence explains Alien species
invasions

@)

Select the correct statements for mendel dihybrid cross

[NCERT-II-62 to 64]

a. Fourtypes of gametes are formed.

b. Phenotypicratiois9:3:3:1

c. Seed shape and seed colour are used

d. Yellow round is maximum in number.

(2) [NCERT-II-180]

Agrobacterium tumefaciens is commonly used in
transfer of foreign DNA into crop plants




175.

176.

177.

178.

179.

180.

(2) [NMC Syllabus]
(1) st S EE AT Sl

(2) HreTaY ~  SEeRfre

(3) TIw — Ao

(4) BRI S EE AT Sl

(1) [NCERT-I-244,245]
DY -1:

DYd -1l :

SuRerd BIaT 8

) [NCERT-II-90 to 99]

(1) T& LT SoTs RNA T 1gHH Bl 2
(2) T ATET SHTE DNA T 1A ©

() U% HIOd HRE SAIF & FH0H & fov
AMITH B

(2) [NCERTH-96]

il # 9gd 9 3 9 gAx UgrRl |l Yaurdl &

AT SFIeRe & BI6) a1 § ARFIAT 8 &,

39 BR | FD] Arsdl T H BIRTGIE B

JUETT HTHT 31fAb B B |

@) [NCERT-1-20,21]
A I Bl . el

B. Yg<aR Bal Il =T

C. 3N Bl . Tras

D. 3IfFN&SIT Wel IV. Bl

3) [NCERT-II-130 to 133]
A. BIERITHN . GRET IehTICT

B. srfifyusi IV. TeamEn fxeifafeat
C. <Al | A gereul
D. T§ Il. SIsHIBISeH

175.

176.

177.

178.

179.

180.

@

(1) Brassicaceae —

[NMC Syllabus]
Dicotyledonae
(2) Malvaceae — Dicotyledonae
(3) Poaceae — Monocotyledonae

(4) Compositae — Dicotyledonae

(1) [NCERT-I-244,245]
Statement I:

(V8> —Theirhormones are steroidal and amino
acid derivative
Statement Il :

by 2 ) — Present at the anterior part of both
right and left kidney.
4 [NCERT-II-90 to 99]

(1) Atranslational unitis the sequence of RNA
(2) Atranscription unit is the sequence of DNA
(

3) A release factor is required for termination of
translation

@

In plants tonoplast facilitates the transport of a number
of ions and other materials against concentration
gradients into the vacuole, hence their concentration is
significantly higher in the vacuole than in the cytoplasm

[NCERT--96]

4) [NCERTH-II-20,21]
Dry fruit [.  Groundnut

B. Fleshy fruit lIl. Orange
False fruit lIl. Strawberry

D. Parthenocarpic fruit  IV. Banana

(3) [NCERTH-II-130to 133]
A. Filariasis lll.  Wuchereria bancrofti
B. Amoebiasis IV. Entamoeba histolytica
Pneumonia I.  Haemophilus
influenzae
D. Ringworm IIl.  Trichophyton
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